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Report No.: 2204TW0107-U3

AX5400 Whole Home Mesh Wi-Fi 6

Product Temperature 24°C
System
Test Engineer Peter Relative Humidity 55%
Test Site SR5 Test Date 2022/04/25
Test Iltem Radar Statistical Performance Check (802.11ax-HE160 mode — 5570MHz)-Model

Radar Type 1-4 - Radar Statistical Performance

Trial Frequency 1=Detection, 0=No Detection
(MHz) Radar Type 1 Radar Type 2 Radar Type 3 Radar Type 4
0 5492.0 0 0 0 0
1 5497.3 1 1 1 1
2 5502.6 1 0 1 1
3 5507.9 1 0 0 1
4 5513.2 1 1 1 0
5 5518.5 1 1 1 1
6 5523.7 1 1 1 1
7 5529.0 1 1 1 1
8 5534.3 1 1 1 1
9 5539.6 1 1 1 1
10 5544.9 1 1 1 1
11 5550.2 1 0 1 1
12 5555.5 1 1 1 1
13 5560.8 1 1 1 0
14 5566.1 1 1 1 1
15 5570.0 1 1 1 1
16 5575.4 1 1 1 1
17 5580.8 1 1 1 0
18 5586.2 1 1 1 0
19 5591.6 1 1 1 1
20 5597.0 1 1 0 0
21 5602.3 1 1 1 1
22 5608.0 1 0 1 0
23 5613.6 1 1 1 1
24 5619.2 1 1 1 1
25 5625.0 1 1 1 1
26 5631.0 1 1 1 1

FCC ID: 2AXJ34X75

Page Number: 156 of 213




Al
WR“ Report No.: 2204TW0107-U3
Trial Frequency 1=Detection, Trial Frequency 1=Detection,
0=No Detection 0=No Detection
27 5636.6 1 1 1 1
28 5642.2 1 1 1 1
29 5648.0 1 1 1 1
Probability: 96.6% 83.3% 90% 76.6%
Typel-4 86.625% (>80%)
Radar Type 1 - Radar Waveform
mia Bl W e Rterof TS
s s
Download | Type 1 1.0 a875.0 &1 B3EES. 0
Download 1 Type 1 1.0 653.0 51 B32a5. 0
Download z Type 1 1.0 835,10 63 BE2794.0
Download 3 Tvpe 1 1.0 B35.0 = l=] BIEEE. 0
Download 4 Type 1 1.0 35,0 57 B34, 0
Download 5 Type 1 1.0 635, 0 83 BroE4. 0
Download & Type 1 1.0 695, 0 g4 B3ZEZ. 0
Download 7 Type 1 1.0 B15.0 102 BEE36. 0
Download g8 Type 1 1.0 615.0 86 B3145. 0
Download a Type 1 1.0 7E5.0 &7 B34ie6. 0
Download 10 Tyvpe 1 1.0 a15.0 53 532440
Download 11 Type 1 1.0 G7E.0 Ta 5z854.0
Download 1z Tyvpe 1 1.0 G950 76 53045, 0
Download 13 Tyvpe 1 1.0 B7S.0 az B3176.0
Download 14 Tyvpa 1 1.0 7ES. 0 0 B3060. 0
Download 15 Tvpe 1 1.0 Q45 10 BE B2a=0. 0
Download 16 Tvpe 1 1.0 Faz.0 &7 BE3054. 0
Download 17 Tvpe 1 1.0 2365, 0 19 E4492 0
Download 13 Tyvpe 1 1.0 1574.0 34 E3E16.0
Download 19 Tvpe 1 1.0 2874, 0 15 BIE3E. 0
Download =0 Tyvpe 1 1.0 1375.0 39 B3G5, 0
Download 21 Tyvpe 1 1.0 £331.0 23 B3613.0
Download =z Tyvpa 1 1.0 1486, 0 37 B3GTZ. 0
Download 23 Tvpe 1 1.0 633.0 77 B2O7E. 0
Download =4 Tvpe 1 1.0 1991. 0 27 E37ET. O
Download 25 Tvpe 1 1.0 2E95. 0 21 E44E3. 0
Download 26 Tyvpe 1 1.0 1951.0 =7 E3457.0
Download = Tvpe 1 1.0 2861.0 19 243858, 0
Download o8 Tyvpe 1 1.0 2544 0 21 B3424. 0
Download
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Radar Type 2 - Radar Waveform

. REadar Ful=e Humber of Yaveform

Trial Id Type Elﬂ.;:]:l. FETI (u=) Pulzex ]i.:.en th
us= us
Download ] Tvpe 2 4.7 166. 0 29 45240
Download 1 Tvpe 2 3.3 197.0 26 E1ZZ.0
Dowrnl aad z Tvpe 2 3.2 153 0 26 4134.0
Download 3 Type 2 3.8 224.0 =7 6045, 0
Download 4 Tvpe 2 2.7 1vz.0 25 4300.0
Download 5 Tvpe 2 3.0 185. 0 26 4510.0
Downl oad & Tvpe 2 2.4 1950 25 4950.0
Download 7 Type 2 4.7 206. 0 29 Ea74.0
Download a Tvpe 2 4.8 2020 29 G061, 0
Download =] Tvpe 2 4.0 161. 0 25 4505, 0
Downl oad 10 Tvpe 2 4.z ivi.0 28 4735.0
Download 11 Type 2 4.0 157.0 258 Bz235. 0
Download 1z Tvpe 2 3.2 2E253.0 26 E2Z5.0
Downl oad 13 Tvpe 2 2.3 193.0 25 45Z25.0
Downl oad 14 Tvpe 2 3.7 194 0 27 EZ35.0
Download 15 Type 2 3.3 165. 0 25 425900
Download 16 Tvpe 2 3.2 z215.0 26 EE20.0
Downl oad ir Tvpe 2 2.5 1700 25 4ZE0.0
Downl oad 13 Tvpe 2 4.8 157.0 20 4343.0
Download 19 Type 2 4.5 1590. 0 29 E&10.0
Downl oad 20 Tvpe 2 4.1 207.0 25 ET25.0
Downl oad z1 Tvpe 2 3.1 160. 0 26 4160.0
Downl oad 2z Tvpe 2 3.2 230.0 26 E230.0
Downl oad 23 Tuwpe 2 3.6 182. 0 2T 4104, 0
Downl oad 24 Tvpe 2 3.1 150. 0 26 4550, 0
Downl oad 2B Tvpe 2 2.0 205.0 24 43z0.0
Downl oad 26 Tvpe 2 3.3 166. 0 27 4482.0
Dowrnload 27 Type 2 2.z 181.0 25 4525.0
Downl oad a8 Tvpe 2 3.4 1va.0 27 45333.0
Dowrnl oad
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Radar Type 3 - Radar Waveform

q BEadar Pul=e Humber of e

Trial Id Type Elﬂfh FEI (u=) Pul=e= %en th
ux ux
Download 0 Tyvpe 3 = 350.0 15 5540, 0
Downlaad 1 Type 3 g.3 3z20.0 ir E440.0
Downlaad z Type 3 gz 35z2.0 iv 545940
Download 3 Type 3 G.5 252,10 15 4716. 0
Download 4 Tyvpe 3 T.T 324.0 ir BROS. 0
Downlaad ) Type 3 .0 349.0 ir E233.0
Download & Tvpe 3 7.4 311.0 17 BE257.0
Download T Type 3 .7 473.0 15 §hil4. 0
Download 5] Tyvpe 3 9.5 Z05. 0 15 36500
Downlaad o Type 3 9.0 435. 0 15 3300
Download 10 Type 3 a.z 415.0 15 ravo. o
Download 11 Type 3 2.0 435. 0 15 554, 0
Download 1z Tyvpe 3 G2 352.0 ir Ba54. 0
Downlaad 1z Type 3 7.3 394.0 15 5304. 0
Download 14 Type 3 .7 375.0 15 5504, 0
Download 15 Type 3 G.3 2vz.0 ir 4524, 0
Download 16 Tyvpe 3 G2 450. 0 ir r5z0.0
Downlaad 17 Type 3 7.E 309.0 iv EZE3. 0
Download 1 Type 3 9.5 00, 0 15 S000. 0
Download 19 Type 3 9.5 450. 0 15 §10o.0
Download 20 Type 3 9.1 345.0 15 52250
Downlaad 21 Type 3 .1 4585. 0 iv g282.0
Download 2z Type 3 g.z 452. 0 17 584, 0
Download 23 Tyvpe 3 .6 417.0 ir roS9. 0
Download 24 Type 3 g.1 427.0 ir F=B89. 0
Downlaad 2R Type 3 .0 2v1.0 15 4335, 0
Download ZE Type 3 5.3 3z21.0 17 B4ET. O
Download 27 Tyvpe 3 7.2 4597.0 16 a8z, 0
Download 20 Type 3 G.4 405. 0 ir s90Z. 0
Download
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Radar Type 4 - Radar Waveform

. Radar Ful=ze Huomber of Tareform

Trial Id Type E;:;:h FEI (u=) Pulses IE:: th
Downlaad 0 Tvpe 4 19. 3 380.0 15 s020. 0
Downlaad 1 Tvpe 4 16.1 320.0 14 4430, 0
Downlaad 2 Tvpe 4 15.9 382.0 14 E345.0
Downlaad 3 Tvpe 4 17. 2 252.0 15 3F930.0
Download 4 Tvpe 4 14. 5 324.0 14 45356, 0
Download E Type 4 15. 4 349.0 14 4556, 0
Download 5 Tyvpe 4 14,1 311.0 13 4043, 0
Dowrndoad T Tvpe 4 19. 3 473.0 16 ThES. 0
Download g Tvpe 4 12. 5 zZ05.0 16 J&a0. 0
Download o Tvpe 4 17. 7 435.0 15 5525, 0
Download 10 Tvpe 4 15. 2 415.0 15 g225.0
Download 11 Tvpe 4 17. 7 435. 0 15 g570.0
Download 12 Tvpe 4 15. 5 3820 14 4925.0
Downlaad 13 Tvpe 4 14.0 3940 13 B1Z22.0
Downlaad 14 Tvpe 4 17.0 373.0 15 Es70.0
Downlaad 15 Tvpe 4 16.1 272.0 14 3805.0
Downlaad 15 Tvpe 4 15. & 450. 0 14 5440, 0
Downlaad i7 Tvpe 4 14. 3 3020 13 4017.0
Download 15 Tvpe 4 19. 5 500, 0 15 S000. o
Dowrnload 12 Type 4 15. 9 450. 0 15 rz0a. o
Dowrndoad Z0 Tvpe 4 15.0 346.0 15 51%0.0
Download 21 Tvpe 4 15. 7 456. 0 14 g504. 0
Download 22 Tvpe 4 16.0 4520 14 5325, 0
Download 23 Tvpe 4 16. 7 417.0 15 5255, 0
Download 24 Tvpe 4 15. 7 427.0 14 BATS. 0
Download 25 Tvpe 4 13. 2 2¥1.0 13 3823.0
Download 25 Tvpe 4 156. 2 321.0 14 4494 0
Downlaad 27 Tvpe 4 13.8 497.0 13 5451.0
Downlaad 28 Tvpe 4 16. 5 405. 0 15 5090, 0
Downl aad

FCC ID: 2AXJ4X75 Page Number: 160 of 213



"\’;«,‘\Nv\
m I‘ Report No.: 2204TW0107-U3

Radar Type 5 - Radar Statistical Performance

Trail # Test Freq. 1=Detection Trail # Test Freq. 1=Detection
(MHz) 0=No Detection (MHz) 0=No Detection
0 5570.0 1 15 5496.0 1
1 5570.0 1 16 5495.0 1
2 5570.0 1 17 5494.0 1
3 5570.0 1 18 5498.0 1
4 5570.0 1 19 5497.0 1
5 5570.0 1 20 5643.0 1
6 5570.0 1 21 5645.0 1
7 5570.0 1 22 5645.0 1
8 5570.0 1 23 5644.0 1
9 5570.0 1 24 5645.0 1
10 5497.0 1 25 5647.0 1
11 5496.0 1 26 5644.0 1
12 5495.0 1 27 5646.0 1
13 5494.0 0 28 5644.0 1
14 5496.0 1 29 5644.0 1
Detection Percentage (%) 96.6%

Type 5 Radar Waveform_0

Boar =i 1 Chirp Hombexr of

?ffset T Ca=) Iidt?, ;n15eg per |[PET—1 f(u=) [PET—=F (ua=? |PET-—3 (a=)>
o= s =

10000, O EEl 12 = 1s10. 0 11100 13540
sEza5D . O T 19 = 16800 147z O =
A0SzES . O TT. 4 12 = 16520 1105 O —
EEGE4z . O 4.5 12 = 15=1._0 16z=. O 10110
S1357. 0 F1. =2 12 = 1633, 0 195, 0 —
=a4156. 0 P 19 = 10D O 1zoa. O =
SEGE40z . O 7. 5 12 = 1GoOz. 0 1zoa. O —
EXZTEZG. O EEE 12 = 105&. O 15z1. 0 147z 0
SE5E1. 0 EENE 19 = 1411. 0 11z0. o 1460, 0
2144720, O Sr. 1 19 3 15320 14=20. 0O 1125 0
SEGE0Z . O EENE 1o = 1619, O 1751 0O 12750
SEi1osz5. O a7. = 12 = 107, O 1055 O 1094 O
ASSEG. O TE. o 19 = 1544 0O 1502 O —
195591 . 0 SE. 5 19 1 1zo=s. 0 — —
Sacn17. 0 aa. 4 19 = 16700 16900 10170
01407, O R 12 = 14as1. 0 1zos O —
zE11Zz. 0 F7. 0O 19 = 10sE. O 16sE. O —
177S57. 0 a5 19 = 15==. 0 1454 0O —
Soozaz . O ELEE! 19 = 16050 1615 O 10zs. O
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Type 5 Radar Waveform_1

Buoar=t Pul=e C]_lirp Homber of
DEf=et ¥idith (u=) '{;]d{t]l gulses per |[PET—1 {u=s) |[PET2 (u=) |[PRT—3F {(u=)
ms = mr =t
BOS555. 0 95,6 14 =] 1501. 0 1554. O 1977, 0
sSO0s. 0 55.85 14 = 105=. 0 1154, 0 1s01. 0
Z01345. 0 TE. S 14 = 1441 0 1445 0O —
S94dsd49. 0 Tr. T 14 = 15380, 0 1550, 0 -
ESSl1vFoO.0O 51.8 14 = 1217.0 14==2. 0 —
TS1204. 0 TE. 4 14 = 15550 1151. 0 —
1777FsET. 0 B=. 3 14 1 153=. 0 - -
ITF092E. 0 Tl 14 = 1553, 0 1170, 0 —
BE54955. 0 B65. 5 14 1 1v=1.0 - -
TEGSSs. O s0. 3 14 = 17¥z=2.0 15290 —
155546 0 53. 9 14 e 1630, 0 1214 0 1277. 0
Sd5=254. 0 Q0. 8 14 =] 157r. 0 177&. 0 1594 0
40932 0 s0. 1 14 1 19=1.0 — —
TI31955. 0 99 .0 14 =] 1500, 0 1=z49. 0 19=9. 0
1=Z9935. 0 [ = 14 = 1s07. 0 1099 0 -
Type 5 Radar Waveform_2
Bor=+it Pul=e C]_iirp Homber of
Dff=zet Fideth (u=) Fidth Pulzes per (FPET—1 {(u=) (PET—2 {(u=) |[PRET—3 {(u=)
fax) (M=) Bors+t
SESFES55. 0 B5. 5 135 1 1=vF1.0 - -
El17FsT4. 0 51,7 1= 1 11s0. 0 - -
Tioess. 0 53.0 13 1 157&E. 0 — —
1083550, 0 BsS. 0 135 1 1100, 0 - -
299400, 0O S82.3 1= = 100z, 0 19320 —
4932220 55. 9 13 = 1045 0 10&5. O —
ES5Z05. 0 99,8 135 S 101s. 0 1675. 0 150z 0
SZ454. 0 57.9 13 1 1137.0 — —
275455, 0O TE. T 135 = 15=9.0 1595, 0 -
4593554 O 54,9 1= 1 1555, 0 - -
S53353. 0 5Er7. 2 13 1 15520 — —
E5547T. 0 Bd. = 135 1 irr4. 0 - -
Z2ER11s5. 0 85. 4 1= 3 1zz24. 0 1942 0 1700, 0
444545 0 S51.0 13 = 17310 1544 O —
ESZSEETO. O 95.9 1= b 1ss0. 0 17Fl1s. 0 1545, 0
Type 5 Radar Waveform_3
Bor=+t Pul=e C]_lirp Homber of
Dff=et widith C(u=) Width Pols=e=x per (PET—1 (u=) |[PRET—2 (o=} |[PEREE—3 (o=l
(s} (M= Borst
SFE4sZ. 0 Tr. =2 15 = 1354. 0 190s. 0O —
=Z14042 . 0O 55 =2 15 151=2. 0 — —
FREESE5. 0 593 15 1 1555, 0 — —
EFESSS5. 0 55 = 15 1 1537F. 0 — —
101s=. 0 [=1=1—ry 15 = 1=44. 0 1405 O —
1909852, 0 S7. 5 15 ] 15345, 0 151920 1=40. 0
SIVEZ94 .0 ToO. O 15 = 1745, 0 1854, 0O —
EEE1OE. O BO. & 15 1 10s4. 0 — —
TIZ27E. 0 a5, T 15 ] 1310, 0 1504, 0O 14770
1593545 . 0O 5351 15 1 1525, 0 — —
SHl10z4. 0 B5.5 15 1 1z0ov. 0 - -
BE30451 . 0 95 4 15 ] 13v2.0 15z4. 0 153550
T139s52. 0 5z.0 15 1 1494 0O — —
145975, 0 559 15 1 15535. 0 — —
SF=EE5s04. 0 53,0 15 1 1549 0 — —
BEO07F=135. 0 955 15 ] 1v5=2.0 19355, 0 1952 0
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Type 5 Radar Waveform_4

Buoarst FPol=e [:l_ii:rp Humber of
Dffset ¥idth f(us) ¥idth FPulses per |FRI—1 {u=s) |[PRET—2 (u=x) |PET—3 {(ux)
{n=s) {(WH= ) Buor=t
S49951. 0 a5 11 = 16550 15260 —
152835, 0 55,3 11 <] 1255.0 15635, 0 1355.0
37¥rFO7TE. 0 EQ. 3 11 1 12190 — —
sO0495. 0 51.1 11 1 14590 — —
g22271.0 ¥1. 7 11 = 1695 0 17150 —
125867, 0 65, 2 11 1 1554, 0 — —
SJ4ETRL. 0 yo. 2 11 = 1195, 0 1255, 0 -
ET71192. 0 565, 3 11 3 133532.0 1445. 0 1531.0
Ta4417.0 TS, 1 11 = 15900 12530 —
951420 G4 1 11 = 11&7.0 11350 147E. 0
321541.0 S0, 5 11 = 120350 1315.0 —
E4E7ES. O =1= B 11 = 14530 15590 1254 0
TESTSZ2. 0 562, T 11 1 16565 0 — —
Type 5 Radar Waveform_5
Buarst L Chirp Humber of
OFfFf<zet ¥idth (u=) Taidth Pulzex per |[FET—1 fo<) PET—2 (mu=) PRET—3 (u=])
{as)} (M=) Buor=st
57220 4.5 12 = 12520 1037.0 —
Z2F2a59. 0 2.1 1z = 1335. 0 13050 —
4795350 3.9 1z = 15v¥5. 0 19450 —
555544 0 251 1z = 12550 1954 0 1353. 0
40145, 0 Fl1. 7 1z = 13050 159260 -
247562, 0 E3. 0 1z 1 10210 — —
454263, 0 E5. 7 1z = 1525, 0 175830 —
S&1z210. 0 1.2 1z = 15120 17z0. 0 —
14555, 0 E4.5 1z 1 1254. 0 — —
221885, 0 = | 12 =2 19350 1541. 0 —
47941 7.0 S0.1 12 = 10z=1.0 1045 0 —
B35019. 0 8556 1z = 105z 0 10420 10ozz2. 0
544353950 512 1z 1 1551.0 — —
1953592, 0 574 1z = 11vse. 0 13235, 0 —
Type 5 Radar Waveform_6
Baor=st FPul=e C]_lirp Humber of
DEff=set ¥idth (a=) ¥idth Pol=zex per |PET—1 (ux) |[FET—2 (u=x) [PET—3 (un=)
{us) (M=) Buourst
4707035, 0 ar.9 10 I 1225, 0 1155. 0 1015, 0
T1z544. 0 5.4 10 = 1895 0 1215.0 -
SERO30. 0 ¥3.5 10 =2 1047. 0 l1414. 0 -
1953970, 0 a7. 6 10 I 1934. 0 1vva. 0 10z4. 0
440544, O 821 10 3 103%. 0 1z9:=2.0 1rd42. 0
554007, 0 53. T 10 1 1421. 0 - -
SZEO055. 0O 55,4 10 = 1651. 0 10&7. 0 -
159855, 0 ¥r. T 10 =2 1075, 0 17250 -
411575, 0 [=1=p ] 10 1 15695, 0 - -
ERZS51. 0 el 10 = 138950 1850.0 -
S9d4529. 0 55,9 10 = 1442 0 1905, 0 -
139755, 0 2.2 10 = 1233. 0 1453. 0 -
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Type 5 Radar Waveform_7

Boaxr =t ol Chirp Homber of
Offceat w:dih e 3 |Wideh Pulzex per [FET—1 f{(u=) |[PET—=2 f(uax) |[PET—3F {axl
(o= = o= =2 Boar =t
=Z4117=. 0 51. 92 12 1 1=E75. 0 — —
ZF9=E511. 0 Q4. 3 12 = 1532, 0 1077.0 1015. 0
S45325. 0O 3.0 12 = 127z, 0 1175. 0 —
E9E45. O T 1 12 = 1545, 0 1=01. 0 —
Z=21593. 0 =N 12 = 11=5. 0 1551. 0 —
Srs0s0. 0 S5, 5 12 1 lsz2. 0 — —
sZy=45. 0 o, 2 12 = 11=1.0 1194. 0 —
S0457. 0 s57. 2 12 = 1=E7FE. 0 1152, 0 1502, 0
zZOozZs9s. 0 1.1 12 = 19s4. 0 1333, 0 —
5453, O S5, 0 12 = 1945, 0 1455, 0O 11535, 0
s0s00zZ. 0 55. 0 12 = 1995, 0 1355, O 192=27.0
F1¥1E.0 Q7.3 12 = 1430, 0 1154. 0 1555, O
154271, 0 S0, 4 12 = 1==0. 0 1s04. O —
SEFEEF. 0 52, 5 12 1 1=00. 0 — —
assS0E0. 0 Q4. 3 12 = 1=74.0 1322, 0 1770.0
1025, 0 55. 3 12 1 la9s. 0O — —
15425, O a5 12 = 1=91. 0 1¥55. 0 —
Fls4az4. 0 55,92 12 1 1952, 0 — —
A704E3E. O o= 12 = 1=E=5. 0 1515. 0 —
Type 5 Radar Waveform_8
Bar =t Fal Chixzxp Homber of
OFEfF=set widrh o 3 |Wideh FPolses per |[PET—1 f{uas) |PET—= (ua=s} |[PET—SF {(a=}
Coa=D * -= [4 T ] Boar =1t
E9Q1TFS1.0 TE. & =0 = 1658 0 1068, O —
159520, 0 s0. 5 =0 1 1747. 0 — —
ZESEEEE. 0O ) =0 = 1556, O 1=251. 0 1520, 0
aAzZ911=. 0 F=. 1 =20 = 110=. 0 15742, 0O —
SrsO0zZ=. 0 [= == =20 1 15930 — —
1=1761._ 0 (= S =1 =0 1 15=4. 0 — —
EES TS0 5. 5 =0 = 10490, O 1855&. 0O 11s5=. O
410175, 0 S55. 5 =0 = 1744, 0 1141. 00 1574, 0
E54z=70. 0 [= 1= =1 =0 = 1s=1. 0 125, O 1025, 0
103=295. 0 L= S 3 =20 = 1=Z15. 0 1915. 0 1754, 0O
=Z4S14=. 0 [= 1= =] =0 = 11=7. 0 145=. 0O 10855 O
9455 0 BE5. 1 =0 1 141=. 0 — —
ESE541. 0 ) =0 = 17240 1s20. 0 1=27s. O
SEFSZ. 0 TS, 1 =0 = 17SE. 0 1554, O —
ZZ29ss0. 0 a9 .5 =20 = 1511. 0 1=211. 0 1995, 0O
Fra90=. 0 a1, = =20 = 15s7. 0 111=. 0 10s5=2. 0
EZ0111. 0 - T =0 = 11==. 0 19240, 0O —
ESOFyF. 0 BEs. = =0 1 19245 0O — —
Z1ZS15. 0 TY.S =0 = 1786, 0O 1591, 0 —
SES15S=. 0 [ == =1 =0 1 1255, 0 — —
Type 5 Radar Waveform_9
Boar=1t Pal == Chixrp Homber of
OFf=set widih f(u-=) |Hidth Fulzes per |[PET—1 f(ux) |[PET—ZF {(ux) |[PET—3 {(u=x)
{a=s) (=) Boar=stit
E91955. 0 7.5 16 = 1256, 0 1112. 0 —
E2130. 0 545 1s 1 15270 — —
ZEO545. 0 TE. 3 16 = 13720 1132, 0 —
iet=Tol= e T ] Q5. 4 15 = 1Z52. 0 15130 1¥=1.0
5¥1715.0 51. 5 15 1 1407, 0 — —
S¥915.0 S5, 4 16 = 1510, 0 1765, 0 1455. 0
ZOS27S. 0 TE. 2 15 = 1Sv0. 0 1925, 0 —
ST¥S4S4. 0 57. 2 16 = 19510 1944, 0 —
E49ET7S. O 9.2 15 = 177S. 0 1032, 0 —
15995, 0 594 16 = 1521.0 1970, 0 —
157214 .0 53.0 15 1 1395 0 — —
SESTES. 0O 53. 0 15 1 1S5S, O — —
S=av41. 0 57¥.0 16 1 1255, 0 — —
52 72E4. 0 100, 0 1s = 1050, 0 1S53, 0 1z23. 0
155112, 0 = I ! 16 = 1574, 0 1165, 0 1555, O
SIEFTFE.0 51, 7 15 1 1=05. 0 — —
S0S401. 0O =5 - 16 1 1657, 0 — —
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Type 5 Radar Waveform_10
B'urffst Pul=a Chidr]!; Hnln-'ber o { 3 P ¥ < 3
(1) =it - widt i o =es DeX FRET—1 s FRET > o= FRT—S =
[ width (u=) [4 5] Bor st
[Saei=l=1 Ty | Ti.1 irv = 15&1. 0 1=&0. 0 -
1=377Fs1.0 S0, 1 17 1 11=5. 0 — —
Zoss43. 0 T2. 5 iv = 153=. 0 1000, O —
4592710 Ta. 2 irv = 15220 1=211. 0 —
GBlo9a55_ 0 (== 17T = 1225 0 1596 . 0O —
1173520 E= 1= = iv = 142=. 0 1410, 0 1Z2&7. 0
eryrvS2Es. 0 = s I =] irv b= 1542 0 1973, 0 1004, O
4R TEE . O T4 35 17T = 1Z6Z_ 0 1z4Z 0O —
SE00=12. 0 Ta.9 iv = 1250 15&92. 0 —
a7F41s. 0 Q0. =2 iv = 172=. 0 1535, 0 1510, 0
EESSTE. O [ = irv = 18290 18532, 0O -
4l9vF4das. 0O S0, 9 17 = 13=5s. 0 la9s. O —
ES0Z=Z75s. 0 T1. 7 iv = 15s0. 0 1=Z27. 0 —
TrOsS. 0 [St= =] irv = 15355, 0 10&SS. O -
ZE3e5=Z0. 0 571 17T 1 1145 0 — —
FRSSE3. 0 (== =] iv = 1440 0 1=z2z25. 0 19=Z0. 0
5517150 553 irv 1 1SS, 0 — —
ES127¥.0 [=1=Trs 17T 1 151=_ 0 — —

Type 5 Radar Waveform_11
Bor=1it Pl Chirp Homber of
NDEFfset s d:]‘:. c ¥ Width Pulzex per |[FELI—1 (aux) PRT—=2 (a=x)} PRET—3 (o)
{os) * o= (M} Bor st
Z2E3E3135.0 [=1m =] 15 1 1955, 0 — —
40191s. 0O = -y 15 ] 1525, 0 1155. 0 1=05.0
574090, 0O =514 1s 1 1554, 0 — —
40575, 0O 512 15 1 1545, 0 — —
2111280 T4 5 18 = 11590 1=14. 0O —
SISl11z9.0 TS, 4 1s = 1&S5. 0 1692, 0 -
EEZ1IEZ=. 0O TE. 35 15 = 1205, 0 1490, 0 —
1955=. 0 [=1= 1s 1 11=2. 0 — —
190256, O [=1= ] 1 1 1953=. 0 - -
SES9ETE. 0 913 15 ] 1550, 0 1035. 0 10050
[=t=d=l=l=h R 3.3 1s = 1555, 0 1z2v0. 0 11=s. 0
SS3002 . 0 99 = 15 ] 18351. 0 1552, 0 1900, 0
1554355 . 0O 94 9 15 ] 1ves. 0 1514 . 0 19210
SIES5Z1.0 S5, 8 1& = 1903, 0 1195. 0 1515, 0
BEO0535351. 0 ST7. 5 15 ] 1055, 0 19790 1545 0
SSI0sT72. 0 TE. 9 1s = 1s=4. 0 117s. 0 —
14S=95. 0 53 =2 1s 1 1455, 0 - -

Type 5 Radar Waveform_12
Bur=st Pul=e Chirp Humber of
DEf=set - ¥aidth Pul=e=s per ([PRET—1 {(u=) (PRT—2 {(u=) |[PRET-—3 {(u=)

Tidth {(ua=s)

{ax) (M=) Boarst
FSesvs. 0 952 135 b 1595, 0 1150.0 1507. 0
2949290 BE. 3 13 1 1s57.0 - -
S0l354=. 0 Td. 5 135 = 1330.0 1515. 0 -
1545135, 0 B5. 5 1= 1 1z90. 0 - -
36135420 = 13 = 14435 0 153s. 0 -
BEEG5517.0 FE= =] 13 = 11540 1995, 0 -
FTre1ITV3.0 FR= 13 = 1756, 0 1595. 0 -
125335, 0 Sz.0 13 = 1235350 1444 0 -
33bz11.0 953 13 3 191s. 0 1152. 0 1735. 0
B457FET. O 57¥. 0 135 1 19870 - -
T420TS. 0 55,3 13 e 141%5. 0 1351, 0 1E5&. 0
103459, 0 5T7. 5 135 1 1459, 0 - -
J0E591.0 99,5 1= e 1s21.0 1zs0. 0 1317.0
BEls91s. 0 a5 9 13 3 165520 137v6.0 1144 .0
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Type 5 Radar Waveform_13

Buar=st Pul=e Chirp Humber of

=et = 1dt SEeES Per — n=s ns — mn=
DEf widih (u<) |Fidth Pul FEI—1 (u=} |PRT—Z (u=x) [PET-3 {(u=)
{ua=) * = (mH=z) Bur=st
S45523. 0 BE&5. 2 10 1 1525. 0 - -
20514, 0 Bl1. 7 10 1 12535. 0 - -
3235342, 0 a4, 3 10 I 1z80.0 1041. 0 1367. 0
ETY3Z18. 0 535 10 3 1451. 0 1vo1. 0 1832, 0
S1559&7. 0 4.5 10 = 1272, 0 1974 0 -
51085, 0 BZ. T 10 1 1654. 0 - -
303095, 0 1= I =] 10 1 1247.0 - -
E44217F. 0 55.6 10 I 1325, 0 10z5. 0 131z. 0
TE4792. 0 94 = 10 5 1709, 0 157=2. 0 1437. 0
311z7. 0 =1= B = ] 10 5 1222 0 1455 0 1685, 0
273313.0 B3. 3 10 1 15326, 0 - -
514511. 0 65, 4 10 = 1640, 0 17iv. 0 -

Type 5 Radar Waveform_14
Bar=st Pul=e Chirp Homber of
%Efset Width (u=) 'Iidt]}x gnlses per |[PET—1 (o=} |PRET—2 {(u=) |[PRET—3 {(u=)
= t.][z or =it
BETE2Z. 0 5z = 15 1 15=27.0 — —
1051. 0 S0, 5 15 = 1740, 0 1=1=. 0 —
15zz21.0 S0 T 15 = 1115. 0 15593, 0 —
IsZ409. 0 95 3 15 = 154=. 0 1=347F. 0 1534 0
Bd45575. 0 S5. 4 15 =] 171s. 0 10355, 0 1505, O
TE4z4z. 0 a5 =2 15 ] 1345, 0 1955, 0 123s. 0
159599 0 945 15 ] 12070 11530 1542, 0
S41557. 0 (=13 =1 15 1 12=27.0 — —
52531520 590 15 1 1vFvOv. 0O — —
FO132=. 0 91,8 15 = 11490 1547. 0 1599 0
157s1=.0 SG0. 5 15 = 157Fr. 0 1007, 0 -
S19471.0 50. 1 15 1 13=7.0 — —
49D T4A5_ 0O S1. T 15 = 13950 1554, 0 —
BSZ59Z2.0 57.3 15 1 1557. 0 — —
1151720 TH. 4 15 = 1250, 0 1555, 0O —
Zose7F1._ 0O T3 15 = 140=. 0 1272, 0 —
Type 5 Radar Waveform_15

BFor=it Pul=e Cbirp Houmbexr of
Diﬁset Tidith (u=) 'ld:? g:i::S per [PRT—1 (u=s) |[PEI—2 (u=) |[PET—3F (u=)
EO09535. 0 =] 14 =4 1147. 0 1=z50. 0 —
TOz545. 0O 1.3 14 = 1404 0O 19750 —
S99z 0 931 14 3 1s1s. 0 1vio. 0 1190, 0
292955, 0 5z.0 14 1 1514, 0O — —
4GSSE0. 0 L5170 =1 14 1 1545. 0 — —
ETFF3S. 0 95 B 14 3 1243 0 1520, 0 1745, 0
TEZES. 0O 57. 5 14 S 153520 15350 110z 0
ZES541 .0 975 14 S 1005, 0 1054 0 190, 0
452955, 0 B0, 5 14 1 1z259.0 — —
B5E5355. 0 50. 35 14 1 1sa7. 0 — —
1586, 0 55,1 14 1 1=5s9. 0 - -
24537E. 0 s4 2 14 1 1=31s. 0 — —
4572 0O 95,4 14 =] 1S540, 0 1582 0 11=9=1.0
E32E23. 0 [S=a0 = 14 1 1s49. 0 — —
2vyTET.0 511 14 1 19250, 0 — —
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Type 5 Radar Waveform_16

Bor=it Pul=e l:]_:lirp Homber of
Off=zet width (u=) L dt? Ful=e=s per ([FET—1 f{(u=} |[FET—Z {(u=) |[FET—3 {(u=)
= x Boar=+it
ZEOSST. 0 T35 15 = 15935, 0 196z, 0 —
415444 0O 97,3 15 = 1=11.0 197s. 0 1449 0
sE091s1. 0 [=1= D=1 1= 1 1010, 0 — —
S941. 0 V.6 13 = 1vvz.0 1=2z2.0 —
196751, 0 21.6 15 =] 1505, 0 1965, 0 1=z01.0
S91595. 0 5l1.=2 15 1 1=47.0 - —
ES47TFr. 0 BS.0 15 1 1vFi1=z.0 - -
FTraefrli. 0 T1. 7 1= = 1s3s. 0 1554, 0 —
1vVz00z. 0 93 =2 13 = l1451. 0 17520 1725, 0
SE7Z21.0 52, T 135 1 1773.0 — —
5595110 G=.9 15 = 1vas. 0O 1505. 0 —
TEz45S. O G5, 9 15 =] 1500, 0 10s0. 0 1555, 0
149974 0 [=L- Yy 1= 1 11090 — —
S4ZESZ. O Fo.9 1= = 1vss. 0 1991 . 0 —
ES4512. 0 a4 = 135 5 1930, 0 1575. 0 15160
Type 5 Radar Waveform_17
Bar=<t Pal Chirp Humber of
DEFfF=et "ﬂ.:]‘: ( 3 ¥idth Pol=zex per |[PET—1 {(u=) |[PET—2 (u=x) |PET—3 (u=)
{u=) * = (HH=) Buor=st
913730, 0 BE1.7 10 1 1739.0 - -
157345 0 57.3 10 2 16583. 0 1525 0 -
398613.0 g53.4 10 3 1red4.0 1227.0 1552. 0
541025, 0 g0. 5 10 2 1453. 0 1473. 0 -
8542150 EQ 2 10 1 1391 0 - -
127595, 0 F2.9 10 2 1541. 0 1152, 0 -
3635040 5.8 10 1 1905 0 - -
512365, 0 B5. 35 10 1 1101.0 - -
553923.0 EZ. 5 10 1 1925, 0 - -
Syaz0.0 5.8 10 1 1873. 0 - -
339209.0 9301 10 3 1269, 0 1473.0 1447.0
EZ1Z20.0 583.3 10 2 1536, 0 1703, 0 -
Type 5 Radar Waveform_18
EE;::: ETLTE a2 E?iz? EEEEZ 2E |emr—1 (u=3 |FET 2 (u=3 |PET-3 (u=3
A1 ¥E5. O ErEE] =0 = 154, O 1zos. O 1Sz4. O
a0v1s. O a5, 1 =0 = 10=0. 0 1057, 0 1152, 0
1E556E4S 0 =] =n = 1134 0O 1454 0O —
SZoSET. 0 S0, = =0 = 1FE5. O 1oz, 0 —
aArEzEa. O s =0 = 1555, 0 1=57. 0 —
soEmE. O EENG] =n = 1513 0 1400 0O 1vOs O
1576E1=. O S0, 4 =0 = 1SS0S, O 1465, O —
S1mmes. 0 S5l 1 =0 1 1zas. O — —
ASE095. 0 ] =n 1 1926 0 — —
SOEs. O F1.5 =0 = 1m0 1m0, 0 —
1asoEs. O vo. T =0 = 10a=. O 1azs. 0 —
saEass. 0 L] =n = 1741 0 1mE1. 0 17FY O
AZSTFLIT. O ¥S. 0 =0 = 1074, 0O 1545, O —
Sgas0s. O ¥E.= =0 = 1519 0 109, O —
151644 0 EENE =n = 11za 0 1725 0 152 0
=TE@SS. O EERE =0 = 1555, O 1405, O 171E. O
AZ1075. O EERE] =0 = 1023, 0 1114. 0 1509, O
SEEZEE. 0 == & =n = 110 0 125 0 141= 0O
114510, O 55, 5 =0 1 1ze7.0 — —
=Em100. 0 ¥=. 7 =0 = 1Zas. O 1366, O —
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Type 5 Radar Waveform_19

Bor =1t Folee Chixp Homber of
?ifget wridrih Cwm=) Ild;?, gnlz:; per ([PRET—1 fu=2) |[PET—=2 f{fua=)¥ |[PET—F {u=)
AZEIES. O TS5 15 =3 14Z6. O fR=r=1- —
E7F@l1S5d4. O = 15 1 1304, O — —
1Ol1zs@. O o5, & 15 = 17Z4. 0 f=t=t- 1054, O
ZESZ1Z0. 0 o5, 9 15 = 19=Ze. O 1EZ2. O 15465, O
AOSZ 7O, O s0. S 15 =3 1754, O 1S5S4, O —
EEQT4S. O EENE] 15 1 19EE. O — —
SES9T. 0 53. = 15 1 1z5a. O — —
ZEHAAST. O 85. 3 15 = 1E9S. O 149=. O 1596, O
SETEL4. O &67. S 15 S 1527, 0 15&1 . O —
ESSTTI. 0O ENE] 15 = 115, O 1506, O 1551, 0
EEEEIN=] 7.0 15 1 19Ed. O — —
215305, 0O FO. T 15 S 1544, O 15E2. O —
SES0Za. 0 EENE] 15 = 17aT. 0 1175, 0 1527, 0
EZOT4S. O N 15 S 1751. 0 1542, O —
AE19E. O EERE) 15 1 1S14. O — —
197S7S. 0 8&. 7 15 = 11Es. O 119=. 0 1z39. 0
SEOTLE. O E5. 1 15 1 1735, O — —
EOZ10&. O Sz, 1 15 S 159z, O 1555, O —
ZEEE9. O EERE 15 1 151, 0 — —
Type 5 Radar Waveform_20
Bar =t Tl = Chirp Womber of
ODOFFf=zat 2 wideh FPolses per |[PET—1 f(ua=) |PET—= [(a=) [PET—S {(a=)}
o= wideh (o=) |rgy-) Bar=t
188395, 0 =Ta 17 = 1542, 0 1234, O 1516, O
FASTES. O S4. 4 17 = 1790, 0 1220, 0 1202, 0
51Z017.0 =E T 17 1 1Z6EE. O — —
TOES. O a1, = 17 = 1665, O 14as92. O 1E03. O
165744, O To.9 17 = 1831, 0 1925, 0 —
SEa1l16. 0 S57. 6 17 = 19261 .0 1557 0O 1051 .0
4Z9391 .0 =1 17 = 1904, O 1671, 0 1406, O
EESTLIS. 0 5Z. & 17 1 1065, O — —
14910, 0 6. 0 17 = 1235, 0 1466, O 1186, O
FO9@E0. O I, 3 17 =3 1492, 0 1742. 0 —
AFZ1I7E. O 55. 9 17 1 1556, O — —
SZZEE1. 0 S7.0 17 =3 1013, 0 1053, O —
1Z9369. O 59, 2 17 = 1417.0 1140, 0 —
ZEAETL .0 a5, 3 17 = 19294 0O 119 0 1116 0
AE1GES. O TO. 3 17 =3 1150. 0 1166, O —
515945, 0 55, T 17 1 1071.0 — —
109245, O s5. 1 17 = 1865, 0 1Zs0. 0O 1045, O
ZEaTE1. O S5, 5 17 = 1303, 0 1504, O 1753, 0
Type 5 Radar Waveform_21
Boar=t Pal Chir Huomber of
DEf=et e Tidth Ful=e=s per |FET—1 f(us) |[FET—2 (u=x) (PET—3 (ua=)
Widith (u=)
{ax) =) Buor=+t
EE4190.0 S54.1 13 5 1115. 0 15720 1535. 0
TEO4SS5. 0 959 135 S 15vs. 0 175&5. 0 1500. 0
11E816. 0 G0 4 13 1 1051. 0 - -
FZ1v45. 0 23 2 13 3 1557.0 1377F. 0 1vs4. 0
BEZSZET. 0 gz 1 1= bc] 12170 13z, 0 170E. 0
T35407.0 55,4 13 5 1avs. o 1505, 0 17550
S9951.0 5=, 0 135 1 12150 - -
ZETES1. 0 G4 & 13 1 1465 0 - -
BEO510=5. 0 ES. 9 13 1 13550 — —
TOQSTE. O 593 1= bc] 15550 15635, 0 1s=4. 0
54413, 0 529 13 1 1762. 0 - -
Z2FZ0Orys. 0 545 13 1 1117.0 — —
478413, 0 62, 8 15 1 1605, O — —
BS435355. 0 85,5 13 3 15090 13590 1547. 0
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Type 5 Radar Waveform_22
Bor=st Pul=e Chirp Homber of
DEff=set widith € 3 Fidth Pulses per |[PET—1 {(u=) |[PET 2 {u=) |[PET—3 {ua=)

s * = (M=) Buar=sit

SIGE95. 0 ErF. 2 1= 1 1005, O — —
229503, 0 T3, 9 13 = 17320 121s. 0 —
4ZZ8TE. O 55. 2 13 = 1704 0 115350 —
E15353592. 0 G5, 4 135 S 1470, 0O i11ar7. 0 1=45. 0
1=415. 0 &5l1. T 135 1 1541, 0 - -
Z0S19s . 0 B5. 3 1= 1 1059, 0 - -
TZogos41 .0 (=TS = 1= = 1545, 0 1455 0 —
[St=le]si=t= | BES.3 1= 1 1145. 0 — —
TS4544. O 55. 2 13 e 117z, 0 1122, 0 1552, 0
1S=17v=. 0 &0, =2 135 1 1v45. 0 - -
Srs014. 0 BT. 35 135 = 1vas. 0 1555 . 0 -
BEg9559 . 0O &s5. 0 135 1 1rves. 0 - -
TESZET. 0O s0. 9 1= 1 145=.0 - -
1657993, 0 T3 9 1= = 1s47. 0 1vr41. 0 —
503543, 0 Sr.9 13 = 1385, 0 110z, 0 1737.0

Type 5 Radar Waveform_23
Bar=st Pul Chirp Homber of
DFEFFf=et = d:]‘i Fy 3 Tidth Pol=s=e=x per |[PET—1 (u=) |PET—2 (ua=) |[PET—= (ua=)
{a= * o= () Boar=stit
5103544 0 T2, 5 15 = 1551. 0 1345, 0 —
SRZ025. 0 TS. 2 15 = 1zZ51. 0 13593 0 —
126059, 0 5135 15 1 1555, 0 — —
IOvyozo. o TO. 4 15 = 1527.0 115s. 0 —
4590190 50. 1 15 1 1v=2=.0 — —
SE9S9Z2. 0 TE.1 15 = 130&. 0 1095 0 —
105853510 G=2.3 15 = 112=.0 1045, 0O -
2540550 99 4 15 ] 1511. 0 1413 .0 1454 0
454525 0 arv. 3 15 ] 152E. 0 1s0=. 0O 17520
5455150 9z 3 15 ] 1z45. 0 1S7v5. 0 1557, 0
S1z51.0 TE. 4 15 = 1540, 0 10v=. 0O —
2523150 T2 15 = 14=1. 0 1v&7F. 0 —
444574 0 551 15 1 1111. 0 — —
BEE1685. 0 TS. 5 15 = 1055, 0 141=. 0 —
55950, 0 BE. 35 15 1 190=. 0 - -
25394570 = 15 ] 1574, 0 12350 12550

Type 5 Radar Waveform_24
Bur=st Pul Chirp Huomber of
Off=zet '-d:]‘i C 3 ¥idth Fulsex per |[FET—1 (=) PRT—= (u=x) PRET—3 (u=)

o=} : o= (WM} Burst

452055, 0 T1.1 13 = 1002, 0 1221.0 —
s90252. 0 50, 3 13 1 11750 — —
41720.0 To. =2 135 = 19550 1rz=2.0 -
249854735 0 BR.5 135 1 1Oos2. 0 - -
4AEEEES. O 95,3 13 e 1031, 0 11z1. 0 1555. 0
BE3ETE. O S0. 1 135 = 1026, 0 1027. 0 —
153090 S52.0 13 2 1303 0 1119.0 —
2229530 95.0 13 e 2000, 0 1107.0 1725.0
430755, 0 T2.T 13 = 1445 0 1285, 0 —
5375440 57. 5 13 = 19350 15924 .0 —
S45455. 0 TE. T 13 = 10330 14292 0 —
1953545 0 545 135 1 1z51.0 - -
405521 .0 50,1 135 1 11270 - -
E1z101. 0 TE. 9 13 = 1zzz.0 Z00o. O -
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Type 5 Radar Waveform_25

Burxst Pol=e Chirp Humber of
NDffset widih (u=) Tidth Puol<ex per |[PREI—1 {(u=) ([PRT—2 (u=) |[PERT-—3 (u=s)
{ux) * At (WHzx) Burst
1044033, 0 Tr. 1l g 10i4.0 15617. 0 -
219711, 0 ¥7. 5 =] 2 1avz.0 1432, 0 -
452595, 0 55,1 =] 3 1719.0 1559, 0 1687. 0
T4F230.0 Tr.0O =] 2 167E. 0 1E63. 0 -
1010115, 0 S5, 5 =] 3 1057.0 1505, O 1573, 0
187295, 0 51.0 g 1 1952.0 - -
4R0OE51. O 93,7 =] 3 1167.0 1307. 0 1313.0
F13EE3Z.0 o4 5 =] ] 1997, 0 1543, 0 1295. 0
950039, 0 G627 =] 1 1487.0 - -
1547565, 0 BTY. 5 g 1 1973.0 - -
415543, 0 4.9 =] 2 1034.0 1003, 0 -
Type 5 Radar Waveform_26
Bor=+t Pul=e C]_:Li:rp Homber of
%ﬁf-}set widih (u=) '{;]11[:])1 gizzs per |[FET—1 L LT | PRET—" (ua=) PET—2F (u=)
BOOOSS. O T4 5 14 = 1455, 0 1=14. 0 -
GET495_ 0 TO. 9 14 = 1611. 0 101z 0 -
S93E2. 0 25,1 14 = 1145, 0 1151, 0 14==3. 0
252505, 0 S55. 4 14 5 1015 .0 14559 0 1v50. 0
47165510 G5, 1 14 =] 19=z4. 0 1515. 0 19510
ETO9TS. 0O B3. 5 14 1 107=. 0 - -
GEGE4T. 0 oS 14 = 1854 0 1801 0 -
ZEQ1Fs. 0O o9 14 = 110s. 0 1zZ04. 0 —
451808, 0 &Y. 5 14 = 1918, 0 1865, 0 —
44511 .0 a5 =2 14 5 1401. 0 14=4. 0O 1455. 0
41931, 0 4.5 14 1 1352. 0 — —
Z5345R55. 0 = —y 14 =] 1455, 0 1549 0 15835, O
4z@ana 0 G4 1 14 1 1z05. 0 - -
SZO05S5S. 0 Q2.8 14 = 1335.0 17300 14=4. 0
1v82s. 0 9z 4 14 =S 1751.0 17930 1135. 0
Type 5 Radar Waveform_27
Bur=st Fual Chirp Humhber of
Dff<zet "d:]‘i y 3 ¥idth Pulcses per |[FRTI—1 (ux) |[FEI—2 (ux) |[PET—3 (un=)
{a=z) * — {(WHx) Bur=st
254112, 0 95, 3 =] 3 1694, 0 1027.0 1231.0
EQTFOTZ. 0 == =] 1 12z0.0 - -
F4ET11.0 ar. T =] 3 1584 0 17760 1321.0
S90100. 0 gz 4 =] = 1145 0 15300 -
234997, 0 3.3 =] 1 1228.0 — —
475475, 0 GBT. T =] z 1673, 0 1129, 0 —
FlE9Z8. 0 == B =] 3 1833.0 1628, 0 1Z87.0
SE0222. 0 71.3 =] z 16670 1093, 0 -
208055 0 865 2 =] 1 18520 - -
445792, 0 99,0 =] 3 1836, 0 1165.0 17vE0.0
ESGT114. 0 1.1 =] 3 1325, 0 1637.0 1201.0
SFa1937. 0 85 2 =] 3 14910 1Z10.0 138Z.0
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Type 5 Radar Waveform_28
Boarst Pul=e C]_iirp Homber of
Off=zet ¥idith (u=) '(;].-1[1::]}1 ;ulses per [PRT—1 {(u=s) [PET—=* (u=) |[PET—3 {(a=)

s T mr =t

159555, 0 a=z.1 14 S 1S0ar. 0 1415. 0 1714 0
55440 95 3 14 b 1575, 0 1999 0 1=v1.0
525457, 0 24,0 14 e 11040 1457, 0 1852 0
Tlass5. 0O TE. T 14 = 1=za5. 0 1989, 0 -
1153020 = Ir =1 14 3 1vsy¥. 0 1592, 0 1=40.0
3100585, O 52. 5 14 1 126350 — —
EOl1591 .0 S54.9 14 b 1585, 0 1=99. 0 14740
S9E992. 0 Fo. 7 14 = 1535. 0 140z, 0 —
D454 0 551 14 1 1Z65. 0 - -
2352470 85,0 14 3 1333, 0 1=Z3s2. 0 11510
47IE23. 0 52.5 14 1 15020 — —
ET153599. 0 S5. 6 14 S 1544, 0 1095 0 1450, 0
E3535. 0 54, 3 14 1 109, 0 — —
ZEl105z2. 0 95,0 14 S 1957.0 1S58z, 0 1=Z75. 0
4543571 .0 S55. T 14 b 1vso. 0 11=z=z. 0 1=41. 0

Type 5 Radar Waveform_29
Bar=st Pul=e C]_:Li:rp Homber of
DFEFFf=et width C(u=) Tidth Pol=s=e=x per |[PET—1 (u=) |PET—2 (ua=) |[PET—= (ua=)
(o= (M=) Bar =t
SOESST. 0 SZ. 8 15 = 1524, 0 1=271.0 —
415250 TE.S5 15 = 1530, 0 17v71.0 —
ZEZSET.0 T2, 5 15 = 1570, 0 1=13. 0 —
40553590 55,5 15 = 1s7¥9. 0 151 7.0 140z 0
5547350 4.0 15 = 1241 .0 1S7vS. 0 —
19459, 0 544 15 ] 1571. 0 1577, 0O 15270
ZO00459 .0 a4 = 15 ] 15290 105=. 0 1=237.0
SSzE94. 0 54 T 15 1 1515, 0 — —
BESSSTvF4. 0 S2.3 15 = 1535, 0 1044 0O —
T4S=rFo. 0 Q5.9 15 =] 147¥1. 0 1070, 0 14==. 0
175305, 0 S0, 4 15 = 15290 1497 .0 —
SE0151.0 54 = 15 1 173=.0 — —
5415970 571 15 1 1551. 0 — —
TE1zZ1v7.0 TE. 4 15 = 12855, 0 1735, 0 —
1EE3EO0. 0O =1= Ny 15 = 1090, 0 1v11.0 1=19. 0
SIEs9r0.0 SO0, 9 15 = 1vsS=. 0 1545, 0 -
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Radar Type 6 - Radar Statistical Performance

Trail # Test Freq. 1=Detection Trail # Test Freq. 1=Detection
(MHz) 0=No Detection (MHz) 0=No Detection
0 5492.0 1 15 5570.0 1
1 5497.3 1 16 5575.4 1
2 5502.6 1 17 5580.8 1
3 5507.9 1 18 5586.2 1
4 5513.2 1 19 5591.6 1
5 5518.5 1 20 5597.0 1
6 5523.7 1 21 5602.3 1
7 5529.0 1 22 5608.0 1
8 5534.3 1 23 5613.6 1
9 5539.6 1 24 5619.2 1
10 5544.9 1 25 5625.0 1
11 5550.2 1 26 5631.0 1
12 5555.5 1 27 5636.6 1
13 5560.8 1 28 5642.2 1
14 5566.1 1 29 5648.0 1
Detection Percentage (%) 100%
Type 6 Radar Waveform_0
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15 =Pt ===t === =4=1 EEE T

= =1 =g L=t === 5457 EES0 EE5S

= ==01 L=t =g =si [=1=t=1=) =711 [=pe ) ==

=i === = == =t L= = = sS40 =1

=== Ss0= [=t-8=F.8 == =1 =P = B Sa01

L- 80} E=1= [=t=1Am .8 =5==1 557 E51S

-1 5514 5a55 5457 543135 5555

=i 5459 == L= =1 [=1=4=m) [=prami=)

L= =4 L=1="ra=] L= =1 =1 =t=1=1 L=t = by EZET

[} L=t = =51 == S45= sEs09

L= =H 5454 5545 53507 551= S a05

gl L= =T L=1=1 == 5554 S=15 SS0=

= L= = $= [=1=1=F.8 L= == [=t=t={m] L= == b

s 5E=7F= L=ra B == L=Tra B =1 L= =g == Sy

H= 5501 L=1=t =1 =1 5300 5505 L= S =

= L= t=1 L=rgl m b= S451 === SIS0

e, [ =p=t=1 [=E-8=1=] [=t=tm[m] S50 S50

FCC ID: 2AXJ34X75

Page Number: 172 of 213




Report No.:

2204TW0107-U3

Type 6 Radar Waveform_1
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[ =1 =4 S490 [=1=1=1=4 [=1L=Trara [=1=1=1- 8 EES1
ras | =T 3= 1= [=arami=] 535305 =T 3= 1= 5521
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= [=1=fraee 44 E=51 ES== E=5T
Ee =4 S3=3= L= - Ao | [=1=tra=) =T e e ) [=1=3== 1=
Type 6 Radar Waveform_2
e tmuey |O i = = <t
(5] [==d=1§ E5=0 E=S9 [=argm = 5455
L= ES5an E515 (=== b =1 T= = Es 70O
A =T =1 S 541 L= Ry S5S0% Sasn
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=ik 5545 =% =11 511 =1 ra =1 =541=
= ESTT 55T =01 =1 1= ESE55
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[ =1 =3 53597 5275 L=T- 8= 3 5711 L= e
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ik E7Fi1i0 E=5= BS54 [=t==- 8 =71
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Type 6 Radar Waveform_3
Iisftmney | = = =3 =
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. ES51= [=1-8=1=] 517 [=t == = == =
1% 507 SsS0= Ea499 E51= Ea407
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Lol 5475 sS40 ES55T7T [=t=1=—Am] == $=1
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Type 6 Radar

Waveform_4
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Type 6 Radar Waveform_5
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Type 6 Radar Waveform_7
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Type 6 Radar Waveform_8
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Type 6 Radar Waveform_28
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Report No.: 2204TW0107-U3

AX5400 Whole Home Mesh Wi-Fi 6

Product Temperature 24°C
System
Test Engineer Peter Relative Humidity 55%
Test Site SR5 Test Date 2022/04/25
Test Iltem Radar Statistical Performance Check (802.11ax-HE160 mode — 5570MHz)-Mode2

Radar Type 1-4 - Radar Statistical Performance

Trial Frequency 1=Detection, 0=No Detection
(MHz) Radar Type 1 Radar Type 2 Radar Type 3 Radar Type 4
0 5492.0 1 1 1 1
1 5497.3 1 1 1 1
2 5502.6 1 1 1 1
3 5507.9 1 1 1 1
4 5513.2 1 1 1 0
5 5518.5 1 1 1 1
6 5523.7 1 1 1 1
7 5529.0 1 1 1 1
8 5534.3 1 1 1 1
9 5539.6 1 1 1 1
10 5544.9 1 1 1 1
11 5550.2 1 1 1 1
12 5555.5 1 1 1 1
13 5560.8 1 1 1 0
14 5566.1 1 1 1 1
15 5570.0 1 1 1 1
16 5575.4 1 0 1 1
17 5580.8 1 0 1 1
18 5586.2 1 1 1 0
19 5591.6 1 1 1 1
20 5597.0 1 0 1 0
21 5602.3 1 1 1 1
22 5608.0 1 1 1 1
23 5613.6 1 1 1 0
24 5619.2 1 1 0 0
25 5625.0 1 1 0 1
26 5631.0 1 1 1 1

FCC ID: 2AXJ34X75

Page Number: 183 of 213




Al
WR“ Report No.: 2204TW0107-U3
Trial Frequency 1=Detection, Trial Frequency 1=Detection,
0=No Detection 0=No Detection
27 5636.6 1 1 1 1
28 5642.2 1 1 1 0
29 5648.0 1 1 1 1
Probability: 100% 90% 93.3% 76.6%
Typel-4 89.975% (>80%)
Radar Type 1 - Radar Waveform
mia Bl (SR oo It ot THIET
s 1§
Download 0 Tuvpe 1 1.0 a7s.0 61 BE3EES. O
Download 1 Tupe 1 1.0 £53.0 a1 B3295. 0
Download z Type 1 1.0 835. 0 63 E2794.0
Download 3 Type 1 1.0 535.0 oo B3E6E. 0
Download 4 Tyvpe 1 1.0 835.0 g7 B3466, 0
Download 5 Tyvpe 1 1.0 635. 0 a3 BZER4. 0
Download G Tyvpe 1 1.0 B35, 0 a4 BIZEZ. 0
Download 7 Tupe 1 1.0 E15.0 102 B2E35. 0
Download a8 Tuvpe 1 1.0 E15.0 a6 BE3145.0
Download ] Tupe 1 1.0 FOs5.0 a7 B3465. 0
Download 10 Tvpe 1 1.0 13.0 53 E3244.0
Downlaoad 11 Type 1 1.0 675, 0 =] E28584. 0
Download 1z Tvpe 1 1.0 695, 0 i B3045. 0
Download 13 Tvpe 1 1.0 B75.0 az B3176.0
Download 14 Tvpe 1 1.0 755.0 0 B3060. 0
Download 15 Tuvpe 1 1.0 Q45 10 B EZo20. 0
Download 16 Tvpe 1 1.0 Foz.0 a7 E3054. 0
Download 17 Tuvpe 1 1.0 28365, 0 19 E445Z 0
Download 1a Tvpe 1 1.0 1574.0 34 E3E16.0
Download 19 Towpe 1 1.0 2a74.0 15 E3B3E. O
Download 20 Tvpe 1 1.0 1375.0 39 B36E5. 0
Download 21 Tvpe 1 1.0 £331.0 23 B3613.0
Download b Tvpe 1 1.0 1466, 0 3T B3E7Z.0
Download 23 Tuvpe 1 1.0 633.0 77 EZOTE. 0
Download o4 Tvpe 1 1.0 19910 27 E37ET.0
Download 25 Tuvpe 1 1.0 2593, 0 21 E44E3. 0
Download 26 Tvpe 1 1.0 1951.0 27 E3457.0
Download 27 Towpe 1 1.0 2861.0 19 54363, 0
Download el Tvpe 1 1.0 £544. 0 21 B3424. 0
Downl oad
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Radar Type 2 - Radar Waveform

. Eadar Ful=ze Humber of Tareform

Trial Id Type 7:111;:]1 FETI (u=) Pulcex %en th
us us=
Download ] Type 2 4.7 166. 0 za 45240
Download 1 Type 2 3.3 197.0 26 E1ZZ. 0
Dowrnl aad z Twpe 2 3z 153 0 26 4134.0
Download 3 Type 2 3.8 224.0 o7 6045, 0
Download 4 Type 2 2.7 17z.0 25 4300. 0
Download 5 Type 2 3.0 185. 0 26 4510.0
Downl oad G Type 2 Z.4 195.0 25 4950.0
Download 7 Type 2 4.7 206, 0 29 E974.0
Download g Type 2 4.8 Z0%. 0 za G051, 0
Download o Type 2 4.0 161.0 23 4505, 0
Downl oad 10 Type 2 4.2 171.0 28 4735.0
Download 11 Tvpe 2 4.0 157.0 258 B236. 0
Download 1z Type 2 3z 225.0 26 E9Z5. 0
Download 13 Type 2 Z.3 193.0 25 45280
Downl oad 14 Type 2 3T 194 0 27 E233.0
Download 15 Tvpe 2 3.3 165. 0 25 42590, 10
Download 16 Type 2 3z Z15.0 26 EE20.0
Download 17 Type 2 Z.5 17000 25 4250.0
Downl oad 18 Type 2 4.8 167.0 20 45430
Download 19 Tvpe 2 4. 5 190.0 24 BE&10.0
Download 20 Type 2 4.1 207.0 23 57350
Download 21 Type 2 31 160.0 26 4160.0
Downl oad 2z Type 2 3z 230.0 26 EQ30.0
Downl oad 23 Tuype Z 3.6 152. 0 27 4104, 0
Download 24 Type 2 31 15000 26 4550 0
Download 25 Type 2 z.0 Z05.0 24 4920.0
Downl oad 26 Type 2 3.3 166. 0 27 44520
Dowrnload 27 Tupe 2 2.z 151.0 25 4525.0
Download 23 Type 2 3.4 17a.0 27 4533.0
Downl oad
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Radar Type 3 - Radar Waveform

q BEadar Pal=e Homber of e e

Irial Id Type Elﬂ;h PEI (u=z) Fulses %en th
ux ux
Download 0 Tvpe 3 = 350.0 15 G540, 0
Downl aad 1 Tvpe 3 5.3 3z20.0 1r 440, 0
Downl oad z Tvpe 3 5.2 35z.0 17 G454 0
Download 3 Tvpe 3 5.5 Z52.0 15 47165.0
Download 4 Tvpe 3 r.r 324.0 1r BROS. 0
Downl aad ) Tvpe 3 5.0 349.0 1r BoE3. 0
Download & Type 3 7.4 311.0 17 B2ET. 0
Download T Tvpe 3 = 473.0 15 G514.0
Download G Tvpe 3 9.5 Z05. 0 15 3550, 0
Downl aad o Tvpe 3 9.0 435. 0 15 Ta30.0
Downl oad 10 Tvpe 3 9.2 415.0 15 T470.0
Download 11 Tvpe 3 2.0 435.0 15 Togd. 0
Download 1z Tvpe 3 g2 35z2.0 1r BS54, 0
Downl oad 1z Tvpe 3 7.3 394.0 15 G304 0
Downl oad 14 Tvpe 3 5.7 375.0 15 GE04. 0
Download 15 Tvpe 3 G.3 Zvz.0 1r 4524 .0
Download 16 Tvpe 3 g2 450. 0 1r TE=0.0
Downl oad 17 Tvpe 3 7.EB 309.0 1r BZR3. 0
Downl oad 15 Tvpe 3 9.8 00, O 15 [00a. 0
Download 19 Tvpe 3 9.5 450. 0 15 G100, 0
Downl oad 20 Tvpe 3 9.1 345.0 15 G225, 0
Downl oad 21 Tvpe 3 g1 455. 0 1r G252, 0
Downl oad 2z Tvpe 3 5.2 452. 0 1v TEG4. 0
Download 23 Tvpe 3 G.6 417.0 1r TOSS. 0
Downl oad 24 Tvpe 3 5.1 427.0 1r TZRS. 0
Downl oad 2R Tvpe 3 7. 2v1.0 15 4335, 0
Downl oad ZE Tvpe 3 5.3 3z21.0 1v B4RT. 0
Download 27 Tvpe 3 7.z 4597.0 15 THRZ. 0
Downl oad 20 Tvpe 3 5.4 405. 0 1r GL02. 0
Download

FCC ID: 2AXJ4X75 Page Number: 186 of 213



/\MW
W I‘ Report No.: 2204TW0107-U3

Radar Type 4 - Radar Waveform

. Radar Ful=ze Humber of Tareform

Trial Id Type T:;:;:h FRT (u=) Fulses I{.:: th
Downl aad o Tvpe 4 19.3 380.0 15 s050. 0
Downl oad 1 Tvpe 4 15.1 320.0 14 4450.0
Downl oad 2 Tvpe 4 15. 9 382.0 14 5345.0
Downl oad 3 Tvpe 4 17. 2 252.0 15 3930.0
Download 4 Type 4 14. 5 324.0 14 45355, 0
Download g Type 4 15. 4 349.0 14 4555, 0
Downl oad G Type 4 14.1 311.0 13 4043, 10
Downdload T Type 4 12. 3 473. 0 16 TEES. O
Download g Twpe 4 19. 5 z05.0 16 3280.0
Download o Tupe 4 17. 7 435.0 15 5525, 0
Download 10 Tupe 4 15. 2 415.0 15 G225.0
Download 11 Tupe 4 17. 7 435. 0 15 G570, 0
Downl oad 12 Tvpe 4 16. 5 38Z2.0 14 4925. 0
Downl aad 13 Tvpe 4 14.0 3940 13 5122.0
Downl aad 14 Tvpe 4 17.0 373.0 15 5570, 0
Downl oad 15 Tvpe 4 15.1 272.0 14 3805.0
Downl oad 15 Tvpe 4 15. 9 450. 0 14 5440. 0
Downl oad i7 Twpe 4 14. 3 30920 13 4017.0
Download 15 Type 4 19. 5 500. 0 15 S000. 0
Download 12 Type 4 15.9 450. 0 15 Fz00. 0
Downdload 20 Type 4 13. 0 346. 0 15 5120.0
Download 21 Twpe 4 15. 7 456. 0 14 G504, 0
Download 22 Twpe 4 15.0 452 .0 14 G325, 0
Download 23 Tupe 4 16. 7 417.0 15 G255, 0
Download 24 Tupe 4 16. 7 427.0 14 BaT3. 0
Downl oad 2R Tvpe 4 13. 2 2¥1.0 13 3823.0
Downl oad 258 Tvpe 4 15. 2 321.0 14 4454 0
Downl aad 27 Tvpe 4 13.8 497.0 13 5451.0
Downl oad 28 Tvpe 4 15. 5 405. 0 15 s090. 0
Downl aad

FCC ID: 2AXJ4X75 Page Number: 187 of 213



"\’;«,‘\Nv\
m I‘ Report No.: 2204TW0107-U3

Radar Type 5 - Radar Statistical Performance

Trail # Test Freq. 1=Detection Trail # Test Freq. 1=Detection
(MHz) 0=No Detection (MHz) 0=No Detection
0 5570.0 1 15 5496.0 1
1 5570.0 1 16 5495.0 1
2 5570.0 1 17 5494.0 1
3 5570.0 1 18 5498.0 1
4 5570.0 1 19 5497.0 1
5 5570.0 1 20 5643.0 1
6 5570.0 1 21 5645.0 1
7 5570.0 1 22 5645.0 1
8 5570.0 1 23 5644.0 1
9 5570.0 1 24 5645.0 1
10 5497.0 1 25 5647.0 1
11 5496.0 1 26 5644.0 1
12 5495.0 1 27 5646.0 1
13 5494.0 1 28 5644.0 1
14 5496.0 1 29 5644.0 1
Detection Percentage (%) 100%

Type 5 Radar Waveform_0

Boar =i 1 Chirp Hombexr of

?ffset T Ca=) Iidt?, ;n15eg per |[PET—1 f(u=) [PET—=F (ua=? |PET-—3 (a=)>
o= s =

10000, O EEl 12 = 1s10. 0 11100 13540
sEza5D . O T 19 = 16800 147z O =
A0SzES . O TT. 4 12 = 16520 1105 O —
EEGE4z . O 4.5 12 = 15=1._0 16z=. O 10110
S1357. 0 F1. =2 12 = 1633, 0 195, 0 —
=a4156. 0 P 19 = 10D O 1zoa. O =
SEGE40z . O 7. 5 12 = 1GoOz. 0 1zoa. O —
EXZTEZG. O EEE 12 = 105&. O 15z1. 0 147z 0
SE5E1. 0 EENE 19 = 1411. 0 11z0. o 1460, 0
2144720, O Sr. 1 19 3 15320 14=20. 0O 1125 0
SEGE0Z . O EENE 1o = 1619, O 1751 0O 12750
SEi1osz5. O a7. = 12 = 107, O 1055 O 1094 O
ASSEG. O TE. o 19 = 1544 0O 1502 O —
195591 . 0 SE. 5 19 1 1zo=s. 0 — —
Sacn17. 0 aa. 4 19 = 16700 16900 10170
01407, O R 12 = 14as1. 0 1zos O —
zE11Zz. 0 F7. 0O 19 = 10sE. O 16sE. O —
177S57. 0 a5 19 = 15==. 0 1454 0O —
Soozaz . O ELEE! 19 = 16050 1615 O 10zs. O
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Type 5 Radar Waveform_1
Buor=t Fal Chirp Homber of
DEf==a+t '-d:ﬁ C 3 Tidth Ful=e=s per |[FET—1 (u=) |[PET—Z {(u=) |[FET—3 {(u=s)
{a=) * o= (EH=) Baor=s+
BO9SES. O 95,8 14 = 1s01. 0 1554 0 19770
SO0z, 0 55. 3 14 e 105=. 0 1154, 0 1s01. 0
ZOl1545. 0 TE. S 14 = 1441 .0 14465, 0 -
S94dsd49. 0 Tr. T 14 = 15380, 0 1550, 0 -
ESSl1vFoO.0O 51.8 14 = 1217.0 14==2. 0 —
TS1204. 0 TE. 4 14 = 15550 1151. 0 —
177TraT. 0 B2, 35 14 1 153=. 0 - -
ITO92s. 0 o1 14 = 1555, 0 1170, 0 —
554255 0 55. 5 14 1 17210 — —
TEESSS. O S0. 35 14 = 173=.0 15=9. 0 -
1533450 83.9 14 = 1530, 0 1914. 0 1277. 0
S45254. 0 20. 5 14 e 15770 177&. 0 153240
BA095=. 0 a0, 1 14 1 1951. 0 - -
TE1955. 0 99,0 14 = 1s00. 0O 1z49. 0 19=z9. 0
129935, 0 5r7. 5 14 = 1s07. 0 1099, 0 —

Type 5 Radar Waveform_2
Bor=+t Pl Chirp Homber of
DEFf=et ws: d:]‘:. { 3 width Fol=s=e=s per |(FRT—1 [oaxs) PRET—2 (u=)} PET—3 (=)
(o= * = (EH ) Buorst
F2ISsE. 0 BEE. & 1= 1 1zv¥1.0 — —
217574, 0 51. 7 13 1 11s0. 0 — —
Tilogs5s5. 0 &5, 0 135 1 1675, 0O - -
1083350, 0 Bs.0 1= 1 1100, 0 - -
299400, 0O S2.3 13 = 100z, 0 1932, 0 —
495==2. 0 65,9 135 = 10435, 0 10685, O -
ESEZ05. 0O =1= I = 1= b 101s. 0 1ET7=E. 0 1=0z.0
o454 0O ErF.9 1= 1 11sv¥.0 — —
275455, 0 TE. T 13 = 13220 1525, O —
459554, O a5d. 9 135 1 1855, 0O - -
EG3053. 0 ErF. 2 1= 1 1552.0 — —
55547. 0 54 2 13 1 17740 — —
Zh11s5. 0 G5, 4 135 S 1=z=4. 0 154z, 0 1700, 0
4445475 0 S1.0 1= = 1v¥=1.0 1s44. 0 -
S3ISET0. 0 93,9 13 = 1ss0. 0 1rvis. 0 1543, 0

Type 5 Radar Waveform_3
Bor=+t Pl Chirp Homber of
Dff=et = d:]‘:. s * Width Pols=e=x per (PET—1 (u=) |[PRET—2 (o=} |[PEREE—3 (o=l
(s} * o= (M= Borst
SFE4sZ. 0 Tr. =2 15 = 1354. 0 190s. 0O —
=Z14042 . 0O 55 =2 15 151=2. 0 — —
FREESE5. 0 593 15 1 1555, 0 — —
EFESSS5. 0 55 = 15 1 1537F. 0 — —
101s=. 0 [=1=1—ry 15 = 1=44. 0 1405 O —
1909852, 0 S7. 5 15 ] 15345, 0 151920 1=40. 0
SIVEZ94 .0 ToO. O 15 = 1745, 0 1854, 0O —
EEE1OE. O BO. & 15 1 10s4. 0 — —
TIZ27E. 0 a5, T 15 ] 1310, 0 1504, 0O 14770
1593545 . 0O 5351 15 1 1525, 0 — —
SHl10z4. 0 B5.5 15 1 1z0ov. 0 - -
BE30451 . 0 95 4 15 ] 13v2.0 15z4. 0 153550
T139s52. 0 5z.0 15 1 1494 0O — —
145975, 0 559 15 1 15535. 0 — —
SF=EE5s04. 0 53,0 15 1 1549 0 — —
BEO07F=135. 0 955 15 ] 1v5=2.0 19355, 0 1952 0
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Type 5 Radar Waveform_4

Buoarst FPol=e [:l_ii:rp Humber of
Dffset ¥idth f(us) ¥idth FPulses per |FRI—1 {u=s) |[PRET—2 (u=x) |PET—3 {(ux)
{n=s) {(WH= ) Buor=t
S49951. 0 a5 11 = 16550 15260 —
152835, 0 55,3 11 <] 1255.0 15635, 0 1355.0
37¥rFO7TE. 0 EQ. 3 11 1 12190 — —
sO0495. 0 51.1 11 1 14590 — —
g22271.0 ¥1. 7 11 = 1695 0 17150 —
125867, 0 65, 2 11 1 1554, 0 — —
SJ4ETRL. 0 yo. 2 11 = 1195, 0 1255, 0 -
ET71192. 0 565, 3 11 3 133532.0 1445. 0 1531.0
Ta4417.0 TS, 1 11 = 15900 12530 —
951420 G4 1 11 = 11&7.0 11350 147E. 0
321541.0 S0, 5 11 = 120350 1315.0 —
E4E7ES. O =1= B 11 = 14530 15590 1254 0
TESTSZ2. 0 562, T 11 1 16565 0 — —
Type 5 Radar Waveform_5
Buarst L Chirp Humber of
OFfFf<zet ¥idth (u=) Taidth Pulzex per |[FET—1 fo<) PET—2 (mu=) PRET—3 (u=])
{as)} (M=) Buor=st
57220 4.5 12 = 12520 1037.0 —
Z2F2a59. 0 2.1 1z = 1335. 0 13050 —
4795350 3.9 1z = 15v¥5. 0 19450 —
555544 0 251 1z = 12550 1954 0 1353. 0
40145, 0 Fl1. 7 1z = 13050 159260 -
247562, 0 E3. 0 1z 1 10210 — —
454263, 0 E5. 7 1z = 1525, 0 175830 —
S&1z210. 0 1.2 1z = 15120 17z0. 0 —
14555, 0 E4.5 1z 1 1254. 0 — —
221885, 0 = | 12 =2 19350 1541. 0 —
47941 7.0 S0.1 12 = 10z=1.0 1045 0 —
B35019. 0 8556 1z = 105z 0 10420 10ozz2. 0
544353950 512 1z 1 1551.0 — —
1953592, 0 574 1z = 11vse. 0 13235, 0 —
Type 5 Radar Waveform_6
Baor=st FPul=e C]_lirp Humber of
DEff=set ¥idth (a=) ¥idth Pol=zex per |PET—1 (ux) |[FET—2 (u=x) [PET—3 (un=)
{us) (M=) Buourst
4707035, 0 ar.9 10 I 1225, 0 1155. 0 1015, 0
T1z544. 0 5.4 10 = 1895 0 1215.0 -
SERO30. 0 ¥3.5 10 =2 1047. 0 l1414. 0 -
1953970, 0 a7. 6 10 I 1934. 0 1vva. 0 10z4. 0
440544, O 821 10 3 103%. 0 1z9:=2.0 1rd42. 0
554007, 0 53. T 10 1 1421. 0 - -
SZEO055. 0O 55,4 10 = 1651. 0 10&7. 0 -
159855, 0 ¥r. T 10 =2 1075, 0 17250 -
411575, 0 [=1=p ] 10 1 15695, 0 - -
ERZS51. 0 el 10 = 138950 1850.0 -
S9d4529. 0 55,9 10 = 1442 0 1905, 0 -
139755, 0 2.2 10 = 1233. 0 1453. 0 -
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Type 5 Radar Waveform_7

Boaxr =t ol Chirp Homber of
Offceat w:dih e 3 |Wideh Pulzex per [FET—1 f{(u=) |[PET—=2 f(uax) |[PET—3F {axl
(o= = o= =2 Boar =t
=Z4117=. 0 51. 92 12 1 1=E75. 0 — —
ZF9=E511. 0 Q4. 3 12 = 1532, 0 1077.0 1015. 0
S45325. 0O 3.0 12 = 127z, 0 1175. 0 —
E9E45. O T 1 12 = 1545, 0 1=01. 0 —
Z=21593. 0 =N 12 = 11=5. 0 1551. 0 —
Srs0s0. 0 S5, 5 12 1 lsz2. 0 — —
sZy=45. 0 o, 2 12 = 11=1.0 1194. 0 —
S0457. 0 s57. 2 12 = 1=E7FE. 0 1152, 0 1502, 0
zZOozZs9s. 0 1.1 12 = 19s4. 0 1333, 0 —
5453, O S5, 0 12 = 1945, 0 1455, 0O 11535, 0
s0s00zZ. 0 55. 0 12 = 1995, 0 1355, O 192=27.0
F1¥1E.0 Q7.3 12 = 1430, 0 1154. 0 1555, O
154271, 0 S0, 4 12 = 1==0. 0 1s04. O —
SEFEEF. 0 52, 5 12 1 1=00. 0 — —
assS0E0. 0 Q4. 3 12 = 1=74.0 1322, 0 1770.0
1025, 0 55. 3 12 1 la9s. 0O — —
15425, O a5 12 = 1=91. 0 1¥55. 0 —
Fls4az4. 0 55,92 12 1 1952, 0 — —
A704E3E. O o= 12 = 1=E=5. 0 1515. 0 —
Type 5 Radar Waveform_8
Bar =t Fal Chixzxp Homber of
OFEfF=set widrh o 3 |Wideh FPolses per |[PET—1 f{uas) |PET—= (ua=s} |[PET—SF {(a=}
Coa=D * -= [4 T ] Boar =1t
E9Q1TFS1.0 TE. & =0 = 1658 0 1068, O —
159520, 0 s0. 5 =0 1 1747. 0 — —
ZESEEEE. 0O ) =0 = 1556, O 1=251. 0 1520, 0
aAzZ911=. 0 F=. 1 =20 = 110=. 0 15742, 0O —
SrsO0zZ=. 0 [= == =20 1 15930 — —
1=1761._ 0 (= S =1 =0 1 15=4. 0 — —
EES TS0 5. 5 =0 = 10490, O 1855&. 0O 11s5=. O
410175, 0 S55. 5 =0 = 1744, 0 1141. 00 1574, 0
E54z=70. 0 [= 1= =1 =0 = 1s=1. 0 125, O 1025, 0
103=295. 0 L= S 3 =20 = 1=Z15. 0 1915. 0 1754, 0O
=Z4S14=. 0 [= 1= =] =0 = 11=7. 0 145=. 0O 10855 O
9455 0 BE5. 1 =0 1 141=. 0 — —
ESE541. 0 ) =0 = 17240 1s20. 0 1=27s. O
SEFSZ. 0 TS, 1 =0 = 17SE. 0 1554, O —
ZZ29ss0. 0 a9 .5 =20 = 1511. 0 1=211. 0 1995, 0O
Fra90=. 0 a1, = =20 = 15s7. 0 111=. 0 10s5=2. 0
EZ0111. 0 - T =0 = 11==. 0 19240, 0O —
ESOFyF. 0 BEs. = =0 1 19245 0O — —
Z1ZS15. 0 TY.S =0 = 1786, 0O 1591, 0 —
SES15S=. 0 [ == =1 =0 1 1255, 0 — —
Type 5 Radar Waveform_9
Boar=1t Pal == Chixrp Homber of
OFf=set widih f(u-=) |Hidth Fulzes per |[PET—1 f(ux) |[PET—ZF {(ux) |[PET—3 {(u=x)
{a=s) (=) Boar=stit
E91955. 0 7.5 16 = 1256, 0 1112. 0 —
E2130. 0 545 1s 1 15270 — —
ZEO545. 0 TE. 3 16 = 13720 1132, 0 —
iet=Tol= e T ] Q5. 4 15 = 1Z52. 0 15130 1¥=1.0
5¥1715.0 51. 5 15 1 1407, 0 — —
S¥915.0 S5, 4 16 = 1510, 0 1765, 0 1455. 0
ZOS27S. 0 TE. 2 15 = 1Sv0. 0 1925, 0 —
ST¥S4S4. 0 57. 2 16 = 19510 1944, 0 —
E49ET7S. O 9.2 15 = 177S. 0 1032, 0 —
15995, 0 594 16 = 1521.0 1970, 0 —
157214 .0 53.0 15 1 1395 0 — —
SESTES. 0O 53. 0 15 1 1S5S, O — —
S=av41. 0 57¥.0 16 1 1255, 0 — —
52 72E4. 0 100, 0 1s = 1050, 0 1S53, 0 1z23. 0
155112, 0 = I ! 16 = 1574, 0 1165, 0 1555, O
SIEFTFE.0 51, 7 15 1 1=05. 0 — —
S0S401. 0O =5 - 16 1 1657, 0 — —
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Type 5 Radar Waveform_10
Bor=1t — ElbH e Homber ofFf
ODEFEf=at ..d:]‘i < 3 [Mideh FPulz=exs per |[FPEILT—1 f(u=) |[PET—= (ua=) |[FPET—=F C(a=)
(o= * = = Bar =+t
E59944 . 0O 1.1 b = 1510 1==0. 0 —
1Z77FE1.0 [=1m . iv 1 11250 — —
E9S54S. 0 T2. 5 irv = 1535, 0 1000, O —
459=71. 0 Ta. = irv = 15220 1=211. 0 -
El19955. 0 sEr. 9 b = 19==_0 1=39=. 0 —
1173520 E= 1= = iv = 142=. 0 1410, 0 1Z2&7. 0
eryrvS2Es. 0 = s I =] irv b= 1542 0 1973, 0 1004, O
45 TEE. O T2, 35 irv = 1=2&82. 0 1=4=. 0 -
s00=1=. 0 a9 b = 1=5=. 0 1=5s9. 0 —
a7F41s. 0 Q0. = iv = 172=. 0 1535, 0 1510. 0
ERSSTrE. 0 [ E= - irv = 1529 0 15592, 0O —
4192745 0O S0, 9 irv = 153356&E. 0 1495, 0O -
ESO0=7S. 0 T1. T b = 1=Ss0. 0 1=97. 0 —
Tross. 0O [=1=J =] iv = 13550 105, 0O —
Z2Zasz20. 0 5r. 1 irv 1 1145, 0 — —
FRSS55. 0 as. 9 irv b= 1440, 0 1=225. 0 1230, 0
E51 715, 0 553 b 1 1=5==. 0 — —
ES197. 0 E5. T iv 1 151=2. 0 — —

Type 5 Radar Waveform_11
Bor=1it Pl Chirp Homber of
NDEFfset s d:]‘:. c ¥ Width Pulzex per |[FELI—1 (aux) PRT—=2 (a=x)} PRET—3 (o)
(o=l * o= (M} Boar=sit
Z2E3E3135.0 [=1m =] 15 1 1955, 0 — —
40191s. 0O = -y 15 ] 1525, 0 1155. 0 1=05.0
574090, 0O =514 1s 1 1554, 0 — —
40575, 0O 512 15 1 1545, 0 — —
2111280 T4 5 18 = 11590 1=14. 0O —
SISl11z9.0 TS, 4 1s = 1&S5. 0 1692, 0 -
EEZ1IEZ=. 0O TE. 35 15 = 1205, 0 1490, 0 —
1955=. 0 [=1= 1s 1 11=2. 0 — —
190256, O [=1= ] 1 1 1953=. 0 - -
SES9ETE. 0 913 15 ] 1550, 0 1035. 0 10050
[=t=d=l=l=h R 3.3 1s = 1555, 0 1z2v0. 0 11=s. 0
SS3002 . 0 99 = 15 ] 18351. 0 1552, 0 1900, 0
1554355 . 0O 94 9 15 ] 1ves. 0 1514 . 0 19210
SIES5Z1.0 S5, 8 1& = 1903, 0 1195. 0 1515, 0
BEO0535351. 0 ST7. 5 15 ] 1055, 0 19790 1545 0
SSI0sT72. 0 TE. 9 1s = 1s=4. 0 117s. 0 —
14S=95. 0 53 =2 1s 1 1455, 0 - -

Type 5 Radar Waveform_12
Bur=st Pul=e Chirp Humber of
DEf=set - ¥aidth Pul=e=s per ([PRET—1 {(u=) (PRT—2 {(u=) |[PRET-—3 {(u=)

¥idth (ua=s)

{as) (M=) Buorstit
S88375. 0 95 2 135 e 16550 1150, 0 1507. 0
EQ4920 0 EE. = 1= 1 1857.0 - -
S01342. 0 4.5 13 = 13300 1615, 0 —
1545135, 0 EE. & 13 1 1z90.0 — —
351342 0 E 2 13 =4 14435 0 1536, 0 —
E53517.0 = =] 13 = 1154. 0 1995 . 0 —
FYSLY3. 0 TE.1 13 z 1766. 0 1805, 0 —
1255335. 0 S=2.0 13 =2 1235.0 1444 0O —
335211.0 9253 13 3 12150 11520 1755.0
E457FET. 0O 7.0 135 1 1257.0 - -
T420T7S. O S5, 3 1= = 1415. 0 1351, 0 1565, 0
103459, 0 ET7.E 13 1 1439, 0 — —
peint=l=1=h ] Q9.5 13 3 15621.0 1250, 0 1317.0
El1s921s. 0 a5 9 13 3 1652. 0 1537v&. 0 1144 .00
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Type 5 Radar Waveform_13

Buar=st Pul=e Chirp Humber of
OFEf=et Tidth (u=) ¥idth Pul=zex per [PRET—1 {(u=x) |[PRT—2Z (u=x) [PET—3 {(u=x)
{u=) * = (WH=z} Burst
S45523. 0 BE&5. 2 10 1 1525. 0 - -
20514, 0 Bl1. 7 10 1 12535. 0 - -
3235342, 0 a4, 3 10 I 1z80.0 1041. 0 1367. 0
ETY3Z18. 0 535 10 3 1451. 0 1vo1. 0 1832, 0
S1559&7. 0 4.5 10 = 1272, 0 1974 0 -
51085, 0 BZ. T 10 1 1654. 0 - -
303095, 0 1= I =] 10 1 1247.0 - -
E44217F. 0 55.6 10 I 1325, 0 10z5. 0 131z. 0
TE4792. 0 94 = 10 5 1709, 0 157=2. 0 1437. 0
311z7. 0 =1= B = ] 10 5 1222 0 1455 0 1685, 0
273313.0 B3. 3 10 1 15326, 0 - -
514511. 0 65, 4 10 = 1640, 0 17iv. 0 -
Type 5 Radar Waveform_14
Bar=st Pul Chirp Homber of
DFEFFf=et = JS]‘:. Fy 3 Tidth Pol=s=e=x per |[PET—1 (u=) |PET—2 (ua=) |[PET—= (ua=)
o= ilis = (M) Baor=1it
BETE2Z. 0 5z = 15 1 15=27.0 — —
1051. 0 S0, 5 15 = 1740, 0 1=1=. 0 —
15zz21.0 S0 T 15 = 1115. 0 15593, 0 —
IsZ409. 0 95 3 15 = 154=. 0 1=347F. 0 1534 0
Bd45575. 0 S5. 4 15 =] 171s. 0 10355, 0 1505, O
TE4z4z. 0 a5 =2 15 ] 1345, 0 1955, 0 123s. 0
159599 0 945 15 ] 12070 11530 1542, 0
S41557. 0 (=13 =1 15 1 12=27.0 — —
52531520 590 15 1 1vFvOv. 0O — —
FO132=. 0 91,8 15 = 11490 1547. 0 1599 0
157s1=.0 SG0. 5 15 = 157Fr. 0 1007, 0 -
S19471.0 50. 1 15 1 13=7.0 — —
49D T4A5_ 0O S1. T 15 = 13950 1554, 0 —
BSZ59Z2.0 57.3 15 1 1557. 0 — —
1151720 TH. 4 15 = 1250, 0 1555, 0O —
Zose7F1._ 0O T3 15 = 140=. 0 1272, 0 —
Type 5 Radar Waveform_15
Boar=st Pul=e C]_lirp Homber of
Off=zeaet width (u=) Hidth Pul=z=ex per |[PET—1 {(uax) PEIT—=2 f(u=x) PET—3 f(ux)
= =) HBor=s+t
509555, 0 TE. 35 14 = 1147. 0 1550, 0 —
TOzE45. 0O 1.3 14 = 1404 . 0O 19750 -
Qo992 0 93,1 14 = 151s. 0 1710.0 1120.0
ZRSSEE. 0 5z.0 14 1 1514, 0 — —
45EsE0. 0 (1= 14 1 1545 0 - -
ETFF3S. 0 95 B 14 3 1243 0 1520, 0 1745, 0
TEEES. O S7. 5 14 <] 13220 16350 110z 0
ZES541 .0 L= I = 14 =] 1005, O 1054 0 1905, 0
452955, 0 L1y =1 14 1 1z59. 0 — —
55335, 0 50.3 14 1 1527. 0 — —
BEl156565. 0 55,1 14 1 1589, 0 — —
2453 TE. O 4.2 14 1 1=1s. 0 — —
453TZEE. 0O 25,4 14 <] 1540. O 1652, 0 11=21. 0
E3Z5B25. 0 5z 5 14 1 1549 . 0 — —
27yFaT. 0 51,1 14 1 19s0. O — —
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Type 5 Radar Waveform_16

Bor=it Fal Chirp Homber of
Off=zet '-d:ﬁ C 3 Tidth FPul=e=s per [FET—1 f{(u=} |[FET—2 {(u=} |[FRET—3F {(u=)
= * ™= (M) Boar=+t
ZEOSS7. 0 Td. & 1= = 1595, 0 19&8=. 0 —
415444 0O a7, 35 1= b 1=511.0 197s. 0 1449 0
sE091s1. 0 B9 5 1= 1 1010, 0 — —
S841. 0 G =] 13 =2 1vvz. 0 12320 —
196751, 0 216 1= S 1505, 0 1965, 0 1z0o1. 0
S915395. 0 51. = 1= 1 1=47. 0 - —
ES47FTr. 0 5.0 1= 1 1vi=.0 - -
FTraefrli. 0 1.7 1= = 1s3s. 0 1s=4. 0 —
1vVz00z=. 0 Q23,2 13 3 l1451. 0 17559, 0 1725, 0
SE7Z21.0 G52, T 13 1 1773, 0 — —
5555110 Sz 9 1= = 1vas. 0 1505, 0 —
TEz45S. O S5, 9 1= S 1500, 0 100, 0 1665, 0
149974 0 54, T 1= 1 1109, 0 — —
S4ZESZ. O Fo. 9 1= = 1vss. 0 1991 .0 —
ES4512. 0 a4 = 13 e 12300 1IEVE. O 15160
Type 5 Radar Waveform_17
Bar=<t Pal Chirp Humber of
DEFfF=et "ﬂ.:]‘: ( 3 ¥idth Pol=zex per |[PET—1 {(u=) |[PET—2 (u=x) |PET—3 (u=)
{u=) * = (HH=) Buor=st
913730, 0 BE1.7 10 1 1739.0 - -
157345 0 57.3 10 2 16583. 0 1525 0 -
398613.0 g53.4 10 3 1red4.0 1227.0 1552. 0
541025, 0 g0. 5 10 2 1453. 0 1473. 0 -
8542150 EQ 2 10 1 1391 0 - -
127595, 0 F2.9 10 2 1541. 0 1152, 0 -
3635040 5.8 10 1 1905 0 - -
512365, 0 B5. 35 10 1 1101.0 - -
553923.0 EZ. 5 10 1 1925, 0 - -
Syaz0.0 5.8 10 1 1873. 0 - -
339209.0 9301 10 3 1269, 0 1473.0 1447.0
EZ1Z20.0 583.3 10 2 1536, 0 1703, 0 -
Type 5 Radar Waveform_18
EE;::: ETLTE a2 E?iz? EEEEZ 2E |emr—1 (u=3 |FET 2 (u=3 |PET-3 (u=3
A1 ¥E5. O ErEE] =0 = 154, O 1zos. O 1Sz4. O
a0v1s. O a5, 1 =0 = 10=0. 0 1057, 0 1152, 0
1E556E4S 0 =] =n = 1134 0O 1454 0O —
SZoSET. 0 S0, = =0 = 1FE5. O 1oz, 0 —
aArEzEa. O s =0 = 1555, 0 1=57. 0 —
soEmE. O EENG] =n = 1513 0 1400 0O 1vOs O
1576E1=. O S0, 4 =0 = 1SS0S, O 1465, O —
S1mmes. 0 S5l 1 =0 1 1zas. O — —
ASE095. 0 ] =n 1 1926 0 — —
SOEs. O F1.5 =0 = 1m0 1m0, 0 —
1asoEs. O vo. T =0 = 10a=. O 1azs. 0 —
saEass. 0 L] =n = 1741 0 1mE1. 0 17FY O
AZSTFLIT. O ¥S. 0 =0 = 1074, 0O 1545, O —
Sgas0s. O ¥E.= =0 = 1519 0 109, O —
151644 0 EENE =n = 11za 0 1725 0 152 0
=TE@SS. O EERE =0 = 1555, O 1405, O 171E. O
AZ1075. O EERE] =0 = 1023, 0 1114. 0 1509, O
SEEZEE. 0 == & =n = 110 0 125 0 141= 0O
114510, O 55, 5 =0 1 1ze7.0 — —
=Em100. 0 ¥=. 7 =0 = 1Zas. O 1366, O —
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Type 5 Radar Waveform_19
Bor =1t Folee Chixp Homber of
?ifget wridrih Cwm=) Ild;?, gnlz:; per ([PRET—1 fu=2) |[PET—=2 f{fua=)¥ |[PET—F {u=)
AZEIES. O TS5 15 =3 14Z6. O fR=r=1- —
E7F@l1S5d4. O = 15 1 1304, O — —
1Ol1zs@. O o5, & 15 = 17Z4. 0 f=t=t- 1054, O
ZESZ1Z0. 0 o5, 9 15 = 19=Ze. O 1EZ2. O 15465, O
AOSZ 7O, O s0. S 15 =3 1754, O 1S5S4, O —
EEQT4S. O EENE] 15 1 19EE. O — —
SES9T. 0 53. = 15 1 1z5a. O — —
ZEHAAST. O 85. 3 15 = 1E9S. O 149=. O 1596, O
SETEL4. O &67. S 15 S 1527, 0 15&1 . O —
ESSTTI. 0O ENE] 15 = 115, O 1506, O 1551, 0
EEEEIN=] 7.0 15 1 19Ed. O — —
215305, 0O FO. T 15 S 1544, O 15E2. O —
SES0Za. 0 EENE] 15 = 17aT. 0 1175, 0 1527, 0
EZOT4S. O N 15 S 1751. 0 1542, O —
AE19E. O EERE) 15 1 1S14. O — —
197S7S. 0 8&. 7 15 = 11Es. O 119=. 0 1z39. 0
SEOTLE. O E5. 1 15 1 1735, O — —
EOZ10&. O Sz, 1 15 S 159z, O 1555, O —
ZEEE9. O EERE 15 1 151, 0 — —

Type 5 Radar Waveform_20
Bar =t el = Chirp Womber of
%5559t widih (u=3} '1d:?, gulizs per |[PET—1 o=} |[PERT—2 (o=} |[PET—3 L{u=)
188395, O Q0. a4 17 = 1542. 0 1234, 0 1515, 0
FASTES. O =44 17 = 1790, 0 1Ez0. 0 1202, 0
51Z017. 0 e 17 1 1Z6EE. O — —
TOES. O 91,3 17 = 1665, O lam2. 0 15035, 0
165744, O o9 17 = 1831, 0 1925, 0 —
SEa1l16. 0 87. & 17 = 19261 . 0 16570 1051 .0
A4Z9E91. 0 =1 17 = 1904, O 1671, 0 1406, O
EESTLIA. O 5E. & 17 1 1065, O — —
las910. 0 25,0 17 = 1235. 0 lass. O 1185, 0
FO9@E0. O 3.3 17 =3 1492, 0 1742. 0 —
AFZ1ITE. O 55,9 17 1 1556, O — —
SIZEE1. 0O E¥.0 17 = 1013, 0 1053, 0 —
1z9369. O 59, = 17 = 1417. 0 1140, 0 —
ZESETL. 0O a5. 3 17 = 19294 0O 11@a. 0 11160
AE15ES. O FO. 3 17 =3 1150. 0 11EE. O —
S15945. 0 55, 7 17 1 1071. 0 — —
109245, O 8=. 1 17 = 1865, O 13E0. 0 10450
ZEATEL. O 255 17 = 1303, 0 1504, O 17530

Type 5 Radar Waveform_21
Boar=t Pual Chirp Huomber of
DEf=et 'id:ﬁ Ca=) Tidth Ful=se=s per |FET—1 f(us) |[FEI—2Z (us) |[FEI—3 {(u=x)
{ax) (EHx) Buor=+t
EE4190. 0 541 13 b} 1115. 0 15v9.0 15350
TEO4SS. 0O [=L= ] 135 5 15vs. 0 17550 1500, 0
116816, 0 S04 13 1 1051. 0 - —
SZ1v45. 0 252 13 =S 1557. 0 137F7F. 0 17540
BEZSZET. 0 Sz 1 13 bc] 121 7.0 15320 170Os. O
35407, 0 8554 13 b} 1avs. 0 1505 0 17550
S29E51.0 5Z.0 13 1 1913. 0 — —
ZO7FES1. 0O 545 135 1 1455 0O — —
E0S103. 0 E5. 9 13 1 1385. 0 - —
TOQSTE. O E=1=Jc 13 bc] 1555, 0 155350 1s=4. 0O
54413, 0 Eo. 9 13 1 1782, 0 - —
Z2FzZOrys. 0 54 5 13 1 1117. 0 — —
479415, 0 g5z, 9 135 1 1505, O - —
BS435355. 0 855 13 3 1509, 0 1359.0 1547. 0
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Type 5 Radar Waveform_22
Bor=st Pul=e Chirp Homber of
DEff=set widith € 3 Fidth Pulses per |[PET—1 {(u=) |[PET 2 {u=) |[PET—3 {ua=)

s * = (M=) Buar=sit

SIGE95. 0 ErF. 2 1= 1 1005, O — —
229503, 0 T3, 9 13 = 17320 121s. 0 —
4ZZ8TE. O 55. 2 13 = 1704 0 115350 —
E15353592. 0 G5, 4 135 S 1470, 0O i11ar7. 0 1=45. 0
1=415. 0 &5l1. T 135 1 1541, 0 - -
Z0S19s . 0 B5. 3 1= 1 1059, 0 - -
TZogos41 .0 (=TS = 1= = 1545, 0 1455 0 —
[St=le]si=t= | BES.3 1= 1 1145. 0 — —
TS4544. O 55. 2 13 e 117z, 0 1122, 0 1552, 0
1S=17v=. 0 &0, =2 135 1 1v45. 0 - -
Srs014. 0 BT. 35 135 = 1vas. 0 1555 . 0 -
BEg9559 . 0O &s5. 0 135 1 1rves. 0 - -
TESZET. 0O s0. 9 1= 1 145=.0 - -
1657993, 0 T3 9 1= = 1s47. 0 1vr41. 0 —
503543, 0 Sr.9 13 = 1385, 0 110z, 0 1737.0

Type 5 Radar Waveform_23
Bar=st Pul Chirp Homber of
DFEFFf=et = d:]‘i Fy 3 Tidth Pol=s=e=x per |[PET—1 (u=) |PET—2 (ua=) |[PET—= (ua=)
{a= * o= () Boar=stit
5103544 0 T2, 5 15 = 1551. 0 1345, 0 —
SRZ025. 0 TS. 2 15 = 1zZ51. 0 13593 0 —
126059, 0 5135 15 1 1555, 0 — —
IOvyozo. o TO. 4 15 = 1527.0 115s. 0 —
4590190 50. 1 15 1 1v=2=.0 — —
SE9S9Z2. 0 TE.1 15 = 130&. 0 1095 0 —
105853510 G=2.3 15 = 112=.0 1045, 0O -
2540550 99 4 15 ] 1511. 0 1413 .0 1454 0
454525 0 arv. 3 15 ] 152E. 0 1s0=. 0O 17520
5455150 9z 3 15 ] 1z45. 0 1S7v5. 0 1557, 0
S1z51.0 TE. 4 15 = 1540, 0 10v=. 0O —
2523150 T2 15 = 14=1. 0 1v&7F. 0 —
444574 0 551 15 1 1111. 0 — —
BEE1685. 0 TS. 5 15 = 1055, 0 141=. 0 —
55950, 0 BE. 35 15 1 190=. 0 - -
25394570 = 15 ] 1574, 0 12350 12550

Type 5 Radar Waveform_24
Bur=st Pul Chirp Huomber of
Off=zet '-d:]‘i C 3 ¥idth Fulsex per |[FET—1 (=) PRT—= (u=x) PRET—3 (u=)

o=} : o= (WM} Burst

452055, 0 T1.1 13 = 1002, 0 1221.0 —
s90252. 0 50, 3 13 1 11750 — —
41720.0 To. =2 135 = 19550 1rz=2.0 -
249854735 0 BR.5 135 1 1Oos2. 0 - -
4AEEEES. O 95,3 13 e 1031, 0 11z1. 0 1555. 0
BE3ETE. O S0. 1 135 = 1026, 0 1027. 0 —
153090 S52.0 13 2 1303 0 1119.0 —
2229530 95.0 13 e 2000, 0 1107.0 1725.0
430755, 0 T2.T 13 = 1445 0 1285, 0 —
5375440 57. 5 13 = 19350 15924 .0 —
S45455. 0 TE. T 13 = 10330 14292 0 —
1953545 0 545 135 1 1z51.0 - -
405521 .0 50,1 135 1 11270 - -
E1z101. 0 TE. 9 13 = 1zzz.0 Z00o. O -

FCC ID: 2AXJ4X75 Page Number: 196 of 213



Wi
m IA Report No.: 2204TW0107-U3

Type 5 Radar Waveform_25

Burxst Pol=e Chirp Humber of
NDffset widih (u=) Tidth Puol<ex per |[PREI—1 {(u=) ([PRT—2 (u=) |[PERT-—3 (u=s)
{ux) * At (WHzx) Burst
1044033, 0 Tr. 1l g 10i4.0 15617. 0 -
219711, 0 ¥7. 5 =] 2 1avz.0 1432, 0 -
452595, 0 55,1 =] 3 1719.0 1559, 0 1687. 0
T4F230.0 Tr.0O =] 2 167E. 0 1E63. 0 -
1010115, 0 S5, 5 =] 3 1057.0 1505, O 1573, 0
187295, 0 51.0 g 1 1952.0 - -
4R0OE51. O 93,7 =] 3 1167.0 1307. 0 1313.0
F13EE3Z.0 o4 5 =] ] 1997, 0 1543, 0 1295. 0
950039, 0 G627 =] 1 1487.0 - -
1547565, 0 BTY. 5 g 1 1973.0 - -
415543, 0 4.9 =] 2 1034.0 1003, 0 -
Type 5 Radar Waveform_26
Bor=+t Fal=e [:l_lirp Homber of
%ﬁf-}set widih C(a=) '(;il[:]i gizzs per |FET—1 {oaxs) PRET—=2 f(u=) PET—3 (ua=)
BOO0OSS. O T4 5 14 = 1455 0 1=14. 0 -
GET495. 0 O @ 14 = 1611. 0 101z 0 —
S93E2. 0 2501 14 = 1145, 0 11s51. 0 14330
252505, 0 554 14 5 1015 . 0 1459 0 1750, 0
4726551, 0 g6, 1 14 IS 19=24. 0 1515. 0 1951.0
EBTO9TS. O 53 B 14 1 107=. 0 - —
GEGE4T. 0 oS 14 = 1854 0 18010 —
Z2EQ1Fs. 0O To.9 14 = 110s. 0 1z04. 0 —
451808, 0 G676 14 z 1918, 0 1865, 0 —
44511 .0 95 2 14 5 1401. 0 14=z4. 0 1455 0
41931, 0 54. 5 14 1 1352, 0 — —
Z534555. 0 =0T 14 IS 1455. 0 1=49. 0 1555, 0
4z@an4a 0 541 14 1 1z0s. 0 - —
SZ05S55. 0 S92 G 14 = 1335.0 1vz0.0 14=4. 0
1v82s. 0 Q2.4 14 i 1751, 0 1723, 0 1135. 0
Type 5 Radar Waveform_27
Bur=st Fual Chirp Humhber of
Dff<zet "d:]‘i y 3 ¥idth Pulcses per |[FRTI—1 (ux) |[FEI—2 (ux) |[PET—3 (un=)
{a=z) * — {(WHx) Bur=st
254112, 0 95, 3 =] 3 1694, 0 1027.0 1231.0
EQTFOTZ. 0 == =] 1 12z0.0 - -
F4ET11.0 ar. T =] 3 1584 0 17760 1321.0
S90100. 0 gz 4 =] = 1145 0 15300 -
234997, 0 3.3 =] 1 1228.0 — —
475475, 0 GBT. T =] z 1673, 0 1129, 0 —
FlE9Z8. 0 == B =] 3 1833.0 1628, 0 1Z87.0
SE0222. 0 71.3 =] z 16670 1093, 0 -
208055 0 865 2 =] 1 18520 - -
445792, 0 99,0 =] 3 1836, 0 1165.0 17vE0.0
ESGT114. 0 1.1 =] 3 1325, 0 1637.0 1201.0
SFa1937. 0 85 2 =] 3 14910 1Z10.0 138Z.0
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Type 5 Radar Waveform_28
Bor=+%t Fal Chirp Homber of
DOff=et '-d:ﬁ C 3 Fidth Ful=z=e=s per (FET—1 (m=) (FET—F {(u=}) |[FET—3 (u=)
(o=} * = (EH=D} Bor=s+
1539555, 0 a9=.1 14 b 1s0ay. 0 141s. 0 1714, 0
ZTZc44. 0 95, 3 14 = 1573, 0 19929, 0 1=371.0
525457, 0 94 .0 14 S 1104, 0 1457. 0 1959 0
Tlass5. 0O TE. T 14 = 1=za5. 0 1989, 0 -
1153020 = Ir =1 14 3 1vsy¥. 0 1592, 0 1=40.0
3100585, O 52. 5 14 1 126350 — —
BEO15951 .0 Sd4.9 14 S 1585, 0O 1599 0 1474, 0
[St=lsi=l=tap | o 7 14 = 1535. 0 1405 0 —
2454, 0 521 14 1 1265, 0 — —
Z55=47. 0 S5, 0 14 S 1555, 0 153s=2. 0 1151, 0
47999 0O [=1= = 14 1 102, 0 — —
713232 0 S5. 65 14 e 1544 0 1025, O 1450. 0
BSE55. 0 E5d. 35 14 1 1059, 0 - -
ZE1052. 0 95,0 14 b 1957F.0 1ss=2. 0 1=Z75. 0
454371, 0 S5. 7 14 = 17s0. 0 1122.0 1z41.0

Type 5 Radar Waveform_29
Bar=st Pul Chirp Homber of
DFEFFf=et = d:]‘i Fy 3 Tidth Pol=s=e=x per |[PET—1 (u=) |PET—2 (ua=) |[PET—= (ua=)
{a= * -= () Boar=s it
SOESST. 0 SZ. 8 15 = 1524, 0 1=271.0 —
415250 TE.S5 15 = 1530, 0 17v71.0 —
ZEZSET.0 T2, 5 15 = 1570, 0 1=13. 0 —
40553590 55,5 15 = 1s7¥9. 0 151 7.0 140z 0
5547350 4.0 15 = 1241 .0 1S7vS. 0 —
19459, 0 544 15 ] 1571. 0 1577, 0O 15270
ZO00459 .0 a4 = 15 ] 15290 105=. 0 1=237.0
SSzE94. 0 54 T 15 1 1515, 0 — —
BESSSTvF4. 0 S2.3 15 = 1535, 0 1044 0O —
T4S=rFo. 0 Q5.9 15 =] 147¥1. 0 1070, 0 14==. 0
175305, 0 S0, 4 15 = 15290 1497 .0 —
SE0151.0 54 = 15 1 173=.0 — —
5415970 571 15 1 1551. 0 — —
TE1zZ1v7.0 TE. 4 15 = 12855, 0 1735, 0 —
1EE3EO0. 0O =1= Ny 15 = 1090, 0 1v11.0 1=19. 0
SIEs9r0.0 SO0, 9 15 = 1vsS=. 0 1545, 0 -
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Radar Type 6 - Radar Statistical Performance

Trail # Test Freq. 1=Detection Trail # Test Freq. 1=Detection
(MHz) 0=No Detection (MHz) 0=No Detection
0 5492.0 1 15 5570.0 1
1 5497.3 1 16 5575.4 1
2 5502.6 1 17 5580.8 1
3 5507.9 1 18 5586.2 1
4 5513.2 1 19 5591.6 1
5 5518.5 1 20 5597.0 1
6 5523.7 1 21 5602.3 1
7 5529.0 1 22 5608.0 1
8 5534.3 1 23 5613.6 1
9 5539.6 1 24 5619.2 1
10 5544.9 1 25 5625.0 1
11 5550.2 1 26 5631.0 1
12 5555.5 1 27 5636.6 1
13 5560.8 1 28 5642.2 1
14 5566.1 1 29 5648.0 1
Detection Percentage (%) 100%
Type 6 Radar Waveform_0

s sy | 1 = = =+

[ n ] ES5S L=t ="=4ra =417 5554 [ ==

L=+ === L=1=d == L=1= e L= S S=s=1

pn ] = ya= 5477 L= e ] = S507 L= 3 =

15 =Pt ===t === =4=1 EEE T

= =1 =g L=t === 5457 EES0 EE5S

= ==01 L=t =g =si [=1=t=1=) =711 [=pe ) ==

=i === = == =t L= = = sS40 =1

=== Ss0= [=t-8=F.8 == =1 =P = B Sa01

L- 80} E=1= [=t=1Am .8 =5==1 557 E51S

-1 5514 5a55 5457 543135 5555

=i 5459 == L= =1 [=1=4=m) [=prami=)

L= =4 L=1="ra=] L= =1 =1 =t=1=1 L=t = by EZET

[} L=t = =51 == S45= sEs09

L= =H 5454 5545 53507 551= S a05

gl L= =T L=1=1 == 5554 S=15 SS0=

= L= = $= [=1=1=F.8 L= == [=t=t={m] L= == b

s 5E=7F= L=ra B == L=Tra B =1 L= =g == Sy

H= 5501 L=1=t =1 =1 5300 5505 L= S =

= L= t=1 L=rgl m b= S451 === SIS0

e, [ =p=t=1 [=E-8=1=] [=t=tm[m] S50 S50
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Type 6 Radar

Waveform_1

ot imasy |O = = = <
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= ESS1 590 L= = = ES19 L= e
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== 1 = =1 =ra =1 BESS= ESSES 5517 L=1=" =
E-80 ] Er=4 E504 ESa= E5s1 =51
- 151 === 3 [ =Tras N =1 =T 3= 1= =1 3 =1 =1 5555
=i =T 1= === 3 ==t =i [=4 =4 = =1 = e b
L= =3 E50= ESSa =550 ES51a S=1=
[ n] =1 1= =54 ESS0 E=55 Sa45S
[ =1 =5 S490 EEE5 ESTT E594 EES1
s 5495 [=ara =] 53505 =T 3= 1= 5521
= [=t=d =1 | =1= 129 =1 =t=d =] =471 [=1=1=1 1}
E=1n] 5551 ES5S= L= R (= =-m] [=F-3=12ra
=1 =4 [=5-1=1-8 554 L= S § Ea455 =1 =g
= [ =1 =g L= ¥ B E=51 ESSS ==t =Ara
Ee b =4 5323 =T . m} [=1=pra=] =T s b L=1=== 1=

Type 6 Radar Waveform_2

e tmuey |O i = = <t
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L= ES5an E515 (=== b =1 T= = Es 70O
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1= =T Srars =T 1=1=] =413 =1 =" = =T 1= §
=ik 5545 =% =11 511 =1 ra =1 =541=
= ESTT 55T =01 =1 1= ESE55
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Type 6 Radar Waveform_3
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FCC ID: 2AXJ34X75

Page Number: 200 of 213




Report No.: 2204TW0107-U3

Type 6 Radar Waveform_4
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Type 6 Radar Waveform_5
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Type 6 Radar

Waveform_7
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Type 6 Radar Waveform_8
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Type 6 Radar Waveform_9
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Type 6 Radar

Waveform_ 10
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6. CONCLUSION

The data collected relate only the item(s) tested and show that the device is in compliance with Part

15E of the FCC Rules.

FCC ID: 2AXJ4X75 Page Number: 210 of 213



\
M’W I‘ Report No.: 2204TW0107-U3

Appendix A - Test Setup Photograph

Refer to “2204TW0107-Setup Photo” file.
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Appendix B - External Photograph

Refer to “ 2204TWO0107-External Photo” file.
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Appendix C - Internal Photograph

Refer to “ 2204TWO0107-Internal Photo” file.

The End

FCC ID: 2AXJ4X75 Page Number: 213 of 213



